


Bh-BE TNIREZRAZIE.

@)MF.IN'T‘D

WWW.manyo-tools.co.jp  mADE IN JaPAN

p=35N =127 2XT4

SHEAN
TYA—Y I BEROZERERBHICRUANET,
BERICUELMITREEERLET.
ZNETEH. ZhDDb. BEROBLICCARITES.
BPEROBELEHLTRAERBINIBHEVELTHVET,

P BEREESD!!

onetnzEE A

CINE - RALROIER
OHMLYN N ERFTHDEERDBRENSIEVET,
BRI ED SE) AT R PEBAORERFICIIREFRF2EALTLEZL,
OEENEY KRN A EROFIIETICKEBEDBRDPIEVET,
ﬁt}]&éiﬂﬁ%&ﬁ)@%:—/7u VI EERBLREHEBRLTEEL,
OLE(CE. & h&tb‘ﬁétﬁﬁﬁﬂhkﬁﬁiﬁbﬂkv”ﬁléu‘:/ydb‘)iﬁ'
EFHHIJM% INFDHRNZEEEBLTILEZ,
.ﬁﬁﬁﬁﬁt:lﬁﬁ&@tﬂl%@#if’&ﬁ&%lf((Tééb\D
OO SMERDETENHIR. RAULERETIRRDPDIET.
fERAICEE A MR LT ZE0N,
O LFHEMARIFEZ SOLEGBONT VAP BOERNIREICK TEDPBIELERETS
ERPHIET,
HEHEVY EHEL/NTADERELTLEL,
OLREDRFHPI+ATTERIR. RMEBERRZIIRRIDIET,
V=AW EFETRESROMIABICRE 2bDEMEALTIZE0N,
TREY—IFRLKICLoD Y EBELIRNEIIZA D KDIC LT ZZZLY,
AA=7IIA TR TREF Y TPBMDPRRICT TV TENTV B R OB LT LZ,
ONIHDORF[AF+ D TTEIEPINIYPRIELRETIRRDPHVET.,
MIYORFFEEEICE IR OTLEZLY,

(NI BEOITEE

OEEZHDTIR. MITHFICMBEERZLETT. BEHPOTIER. MIHFICITIEXHTHS R0
TLIEELY,
FERRICIDHDH B EBZAENDRRDHVET, 1eBHDBVKREBERALTLEE,

@ —LARI AN IHICERNRRE XI5 CHIE. RELERETIRIRAHVET,
£/ BROVVKTHIREBLUEBERPKIEETBREPHVET.
BYFRENN—PREDHPREFDRELLZFEALTZE0N,

@ — LRI AZYLELIEWARDERBBENLUANTEAT S L. TRPKIB. RELEREZTS
EEDPHVEY. VIR IBELROTLZZN, AROEAEHTERALTIEZ.

OUHIRAREEZORIERIH LFEZLELIFBROBARELTIEZL,
MITYOFRPHEHRBIEICEHE TURIRG 2R TEHBEDHIET,

ONITHICEEGIRBFVRELIBRIEESICINIZHELTIEZZL,
ZOEEHITDETLRPWIR. RELERZTIREISHVET.
EFEOREZRJBROTHOMIZ/HELTLEE,

OFERENEAZBATIREDOY —IRIN A EERA LTS EWMR. RBORRERVET,
V=R A &MU TS EZLY,

CIMI#EOZER

ONITEZRDIE. MIYIFERICKROTVBDKEETBREDPHIET,
MIYZERFTHORNVTIEZEL,

ONIYICELNTREETDIRRDHYEY. FFTHORNTILEEL,

OINITRIEBY MIYDOTEZERRL T ZE0N,

JREIREROIEE

@Y —IIRI A ERIBFREINSHEINYEF v v I KU LTIRESZZLN,
RENETORREARVET. BLERMBRESNEEARET v v T2—EDZHTHER
HELEITOTHSMIICADTIZEL,

O EEH I UBSEEMZERE L TT —/N\—EFIITRPEDEORICERE LT LX),



@MHNH’D Tooling Systems

YvA-DY=I I AT LD EREMIREZ Y R—

INDEX

W7 A AZINT7—/NOFM.FMA.FMB.FMC FIFACE MILL ARBOR -+t seeeeeerrrrmiiiiiie
WERYA ARREMIRB 7> 7—/NOFMP.FMPCB.FMLW

PLUNGE ARBOR (PLUNGE CUTTING & HIGH FEED CUTTING)
WA A IVR—=ItHy ZE7—/NOFMH FNARBOR FOR CUTTERS WITH OIL HOLE «++++eeeeeeeeeeeeeeeeneneenns
BARL—=FIv>2T T4 AIINT7—/NOST-FM FISTRAIGHT SHANK FACE MILL ARBOR --oeeeeeeeeeeeees
BNy RY AR —7—/NOHMA MHEAD MASTER ARBOR (FOR MODULAR MILLS) «-eeeeeereeeeeeennenennes
BARL—=RIv 2T ANy RYAZ—7—/NOHMA-ST FISTRAIGHT SHANK HEAD MASTER ARBOR -+
WA RN =052 TRIL NOHMA-SCA FIMETAL SAW CLAMPING BOLT -----vveerrrermrerreeeeeeiiiiieeee
WX &) —7—/NOMCA FIMETAL SAW ARBOR
.-Ij—;r I\jJ\jQT_/\ SCA SIDE CUTTER ARBOR .......................................................................
BANL—=bIv2 T YA KAy E2F7—/NOST-SCA HSTRAIGHT SHANK SIDE CUTTER ARBOR--:++++++-+
WINWIYIRI=)2TF vy I7OMMC EIMILLMAX MILLING CHUCK
B RL— Ry MOMCMC-MT (ALY h) BSTRAIGHT COLLET eseeseesseesseissmsiiiisisiis
WO 5 RAY LF vy ZARLEOMTC MSUPER LONG SLIM CHUGCK HOLDER «++-evsessesssessessenesnsneses
Bl vy bF vy /4RI AOMRC(ALY k) MCOLLET CHUCK HOLDER
BANL—b¥v>#aby hF vy - OST-MRC.ST-MRC F MSTRAIGHT SHANK COLLET CHUCK «---
EMRCIL Y h®MRC.ER(ILY K) MIMICRO PRECISION COLLET «:rersresssrrsssrresinissniissnisnienes
BARL— R v Yo &y 7aLy NF vy - OST-MRT MSTRAIGHT SHANK TAP COLLET CHUCK -
WX ISHHIL A —KEOTBT50-SFH MSOLID TYPE SHRINK HOLDER «+vrvrtersesessesseessisisssinsiinsicinns
BARL—=RIv 2y BEEEFEDHARILAZOST-S HISTRAIGHT SHANK SHRINK FIT HOLDER
WY ROv I I RIIIARILEOGOSLM.SLA [FISIDE LOCK END MILL HOLDER -« eeeeeeeeeeeeeeeiiniiiiens
BRO-77z4 RUIAYA KOy IRILEZGSLD MSIDE LOCK HOLDER FOR THROW-AWAY DRILL -
.rjI Vi \‘/E)I/;J—\JI/& WMH WEDGE M”_L HOLDER ........................................................................
WOy II—=Y2FF vy OCWM FEWEDGE MILLING CHUGK «-eeerrrrrreeeeessmmmiiiiii
BE>OY Iy RIIFRILZOSLD FIPIN LOCK HOLDER --eereerrmmmrereeeiii
BWE—ILAT—/N\—=FKIE ARMOMTA HIMORSE TAPER HOLDER (TYPE A)
BWE—ILAT—/N\—FKI4Z BEEOMTB MIMORSE TAPER HOLDER (TYPE B)
W2 EHERAEHRT X7 2—0OTBT-BT

CONVERSION ADAPTER FOR TWO FACE CONTACT SPINDLE «-++reeeerreereereneerrmminnnniii.
WAy IFTIHRILZOQCH FIQUICK CHANGE HOLDER: -+ sseeereeersrssssini e
BER> > O4%y 7HRIVE BT+ > O©STM HHIGH SPEED SYNCHRO TAP HOLDER BT SHANK -----
WERI 7Oy THRIVE AML—h2 v OSTM(TL Y )

HIGH SPEED SYNCHRO TAP HOLDER STRAIGHT SHANK -:seeeeeneerrmemmmmrriiiiiiien
WY —LEFHE=YU Y IAY KOBSABSB.BBL MBORING HEAD v wsesseeseessessmssissiitiiiiiiiisicins
BAO—7Y 1A RfA/NA ~OTBS MTHROW-AWAY BORING CUTTERS: -
WOv*>yJ 74 9AFv—(NERFITE) OLF FILOCKING FIXTURE
WA MN\—OTS HITEST BAR
BRYFARNY 7 (EEMBRERS) ©S12-R5X 150 FITOUCH STOP «rrrrrrrreerrrrrniiiii
W7 A%y K HRETENTION KNOB (PULL STUD)
E7)L>F HPULL WRENCH
W7 MLs L >F BEPULL TORQUE WRENCH
WEEY) Hy £2—OCH FICHAMFERING CUTTER
WELS Y By Z2—0TB HISPOT FACING CUTTER
-Eﬁﬁmj\ I) _7 NC SLEEVE FOR LATHE ....................................................................................
WO>J7—NAINAYZ—OMCD FIMILL CUTTER FOR LONG ARBOR- -« e
W52 7RILNOMBAHCB MICLAMP BOLT FOR FACE MILL ARBOR
BHSK7 24 AZ 7 —/NOHSK-FM FIFACE MILL ARBOR «:::eeeesrsssseesssiiiiiiiiii e
BHSKi#BiE#R{t 75> o7 —/NOHSK-FMPCB MPLUNGE ARBOR WITH CARBIDE BAR ------veeeeeeeeeeeeeee
BHSKAY RYZAZ—7—/N(EY 25—~ v KA) OHSK-HMA

HEAD MASTER ARBOR (FOR MODULAR M”_LS) ..................................................................
BHSKIWY Y I A =2 FF v v OHSK-MMC FMILLMAX MILLING CHUCK
WHSKaOL Y hF+ v 7RI ZOHSK-MRC FICOLLET CHUCK HOLDER: -« e
WHSKY« kOv o I KIIIARILAOGHSK-SLM FSIDE LOCK END MILL HOLDER
BIEMEIERE7—/NOHSK-GLA FMARBOR FOR TOOL & CUTTER GRINDER -«-«-ssseeeeeeeeeeeeeeeeeeiniinnnns
BH— YUY P (ISORHER) MICARTRIDGE (FOR ISO STANDARD) «++r:1ersserssessseessirsssissisisiiissiinsine

ho

-
HMIEP12
TIAAINF—IN
FACE MILL ARBOR
>>12~15 )
>>16~18
>>19~
19~20 1 HfIEP22
>>21 Ay RRZAZ—7—/\
HEAD MASTER ARBOR
>>22~23
>>23 "
>>24
>>25
>>26~27 SH4IEP26
1 KAy E7—N
>>27 SIDE CUTTER ARBOR
>>28~29
>>30
>>31
>>32~33 “ BHIEP28
e IWRYIR
>>34 WS-y oFryy
MILLMAX MICLING CHUCK
>>35
>>36
>>38
>>39
~ SHIEP32
>>40~41.43 ALY hFrY YIRS
> >42~43 COLLET CHUCK HOLDER
>>44
>>45
>>45
>>46~47 SV wmupao
“ yq KOy RS
> >48 SIDE LOCK END MILL HOLDER
>>49
>>50~51
>>52

FifizP46
E—IWAT=/N—FKIE
MORSE TAPER HOLDER

,L/
H#IEP60

TE - [E:DHEeE
TEST BAR

-,

HilI3P76
HSKZ 1A AINT—/\
HSK FACE MILL ARBOR

#l13P80
HSK JL? / 77\
3 _I)

".

E¥HlIEP82

HSK M\LLMAX M\LLING CHUCK

HSKY4A ROV IV RIVFILE
SIDE LOCK END MILL HOLDER



TIAAINT—N
FACE MILL ARBOR

T5007=N
PLUNGE ARBOR

BERILT SV IT7-N
PLUNGE ARBOR WITH CARBIDE BAR

AM=bIA VG TIAAINT =N
FACE MILL ARBOR

Ay RIRAZ=TF—=N\
HEAD MASTER ARBOR

EYa15-AQv bhvA
MODULAR SLOT CUTTER

MCAX &JL>)—7—\
METAL SAW ARBOR

Y41 KhHY&7—N
SIDE CUTTER ARBOR

P27

ANV=hIH TR DY ET-IN
SIDE CUTTER ARBOR

SIWRYIARI=VITF vy
MILLMAX MILLING CHUCK

P31

BOYIRAYLF vy IRINE
SUPER LONG SLIM CHUCK HOLDER

P32

ALY MY Y IRIVE
COLLET CHUCK HOLDER

P34

APL=bv2 Ly bFrv T
COLLET CHUCK STRAIGHT SHANK

P36

ARL—=RE2yTaALy N Fvv
TAP COLLET CHUCK STRAIGHT SHANK

P39

ARL=bI v 2 IBRESHFIE
SHRINK FIT HOLDER

Y4 KOy 7RV E
SIDE LOCK END MILL HOLDER

Iy IINFIE
WEDGE MILL HOLDER

EvOy IV RINKRIVE
PIN LOCK HOLDER

E-WAT=INFKIVE-A
MORSE TAPER HOLDER-A

P48

E—IAT—=NFRIE-B
MORSE TAPER HOLDER-B




2EARAKIRT 4T 2 —
CONVERSION ADAPTER FOR
TWO FACE CONTACT SPINDLE

#

JAVIFLIIFRNE
QUICK CHANGE HOLDER

P52

R a8y TRV
HIGH SPEED SYNCHRO
TAP HOLDER BT SHANK

JEBRfIE
LOCKING FIXTURE

o

(e

L HSK

-

~

HSK®g@L7 5> 27—\
PLUNGE ARBOR WITH CARBIDE BAR

HEAD

HSKAY R ZA&—7—/\

MASTER ARBOR

L HSK

HSKINY Y IRI=VTF vy
HSK MILLMAX MILLING CHUCK

- FDE TNARY K TILF AN AR
TEST BAR RETENTION KNOB (PULL STUD) PULL WRENCH PULL TORQUE WRENCH
P68 P70 P74 P76 PHSK
e
By &= WEAAY—7 | OV57—AINAYE— | HSKZTA AINF—/
SPOT FACING CUTTER SLEEVE FOR LATHE | MILL CUTTER FOR LONG ARBOR HSK FACE MILL ARBOR
P78 P79 P80 P81 |

HSKaL vy hF+v v IRILE
COLLET CHUCK HOLDER

HSKY4A KOy /1Y RINFINE
SIDE LOCK END MILL HOLDER

P83

IEMRIBAT—N
ARBOR FOR TOOL &
CUTTER GRINDER

P84

A= by D (ISORHER)
CARTRIDGE (FOR ISO STANDARD)




B k77 07—-N

PLUNGE ARBOR WITH CARBIDE BAR

SHIE P18
: ' DEHITINS !
BE

BEE) SROERIET —/N\.

W2 EARMER (BT EMICHERR).

Bt 82— 22— A IR—ILHIEF],
BERRZUMI. XAEMRNT TREREPRNE T,

Features

W High rigidity arbor for less vibration.

BTwo face contact shank(Can be used for BT spindle
also).

W Coolant through body.

Mideal for deep cutting on die & mold and large parts
processing.

SR TS &

y—IR
150 ~350mm

10Oy ~ME
¢ 16 ~31.75

ROINITTHEERMT
RE LIRR W INT &K
PIHIRESE 1.5 1%



a4y 7—/\H

SHEIZ P74 E}[,jJ ‘y'j(—

MILL CUTTER FOR LONG ARBOR

&

WO I 7—/NTOMITUVY IR0
B EFENT. ZAIMIICRE
WAy &—: ¢ 60, 63, 80, 100
WH— Ry IR (%7 LREED

Features

HLess vibration for machining with long arbor.

M Suitable for finishing and also machining of aluminum
M Cutter dia.: 960, 63, 80, 100

M Cartridge type (Height of insert can be adjusted.)

A9 —bk
_ K] N
TNMZ160408-S AH6225 $BA O - '
TNMZ160408-A TH10 VaI:: O :
TNMZ160408-D DX140 |7/ I (41 Y) O R 7IVIH Ead
EEEEEEER
fthet B hy 2—
OTHER BRAND CUTTER
3D L LTI THHRRE

A4 Y —KNFv 7 6 EERTHE
S>> aR MR



T—22 A —

X

COOLANT THROUGH BODY

Ay N TR

e FHiR IS P22

OYJALEALT

LONG SLIM TYPE

300

—
BMANYD BISy

-

FAa3°
ANGLE3®
BEANY RX—H—
K>HOA BRTGTLY IR
EL4TITY b EVa15—YNR
TFXZI A 1—F2IT 2RI
SECO aAVETAZ—AY R
SANDVIK Eva1>—103)
==~x7 U7 A a—A42Y—Ib
ERA I EYa15—-3)
1A AN TIFITAZ—BL

BERMAFE (RIOTAZXEA>AR) PERLTHUIMNAY NETERBOERFET.

HEAD MASTER ARBOR

ANY R AZ—=F—/]\ HMA)

T a17—"\vKH
ARBORS FOR MODULAR MILLS

R

BERPRRAONMITICHEOTERERENICA EVNVELET.

BNy RREATIEEEDIED.

WO TR LRSS TEESEICK)T—7. BEZOTHD
BRIhEEENPEENELET,

BF50%E. aTHZEMILTERLTWWEEITEY.
(EF1 71445 —3aY)

EBT. HSK v > o 7—/)N a—hYoa/ZXhsaridAa
AETINSA VTV T,

Features (HMA type)

BMProcessing efficiency is drastically improved on die
& mold and parts machining.

BModular head style makes tool management easier.

BLess interference to workpiece and jig by using long
and slim type.

W Arbor body can be modified to avoid interference.

M Variety of projection length on BT and HSK shanks.

TERELREIZREICTZSDATLT
OB E 7IVSERTEET,
Higher rigidity thanks to minimum gauge length.

B HMA 7—/\ WHRI—=D>TFvvy

Moys

A \/ T 7|7A
eI TR MR £ &, AN
RIGIDITY IMPROVEMENT .
5

Interference

MIRMEHET
RIGIDITY DECREASE

Buoj



HMA 7—/\H
fhtt. BRES Y7 T7—NCEHERWVELEITETS :E:/"Js_Zn W I\jJ ‘ya

Can be used with other brand carbide arbor.
MODULAR SLOT CUTTER

Sl P24

XBIW) =952 THRIVE

METAL SAW CLAMPING BOLT

B

BNy RYRAZ—7—/NICERHI @A RO
A MR

WA EBOF S E S INTRERD UP W/
LET.

W)y BNy RTHBRMERRET I TRIERN.

BO—{2170hy 2EHBLTERBIE. £
EUREDER.

WU HEEEDIEE ICH ORI LK.

WMz - SBEOERI—T 1 JDEAT
SEFWILIAERDKIEUP W LET,

Features (HMA-SCA type)

BMUsing with HMA arbors helps cost
reduction.

BMProcessing efficiency is improved
thanks to no interference in nose
portion.

M Solid head can be regrinded.

EHigher rigidity and better surface finish
than brazing type cutter.

BMNewly developed tool edge design with
very high cutting chip discharging.

BMProcessing efficiency is drastically
improved thanks to special coating long
life cutter with high heat resistance and
hardness. u

HMA ARL—h&A47

WEF1 7145 —23> (EBMNT) E ﬁ
MODIFICATION tﬂﬂ;@
OV IAULEA TOF—/NERBELTEYETH, &SCFHTHMIH & i

S L35 REET7T—/\NERT 1 ZBINLL TFS5ZBITZENTZET,
Arbor body can be modified to avoid interference. <« !

IEﬁ:EMI@%M%&ET@E%<EéM
CAD F— & T<HER & RN LET.




\'/
L
I
-
<
(VY
O
\/

JETRELEZAFYT

Za—3IIWVIVIR
=V TFvvy

FHilIE P28 NEW MILLMAHR MILLING CHUCK

O>J%4 X L500 TR !

Available up to 500mm as standard.

AANHN—14E

Dust cover mechanism

. RS
ﬂy)ZU “/'37—% High rigidity structure

Tapered grooves

IDE%UWEEETWEUP

BEEY. I RINVRFISBROBBII - TF vy T, Fry
IRTA—DIRBEHPRNETOHFRICHELAZRMOHDAY v &—
BYRIEZETEOREDICIBEVMTIYZNZLET,

BMOTHERICHED LD ISR LRFEOREBREED L/HERE
BTTHEL,

WREERAEH<SH (ZyT. 7L EVTTY) PEERT
BREHGHEERA LY 7 EOREZRELTOET,

HEAECIRENDICHREREITDF v v IRT—ERLITI >
JiREDTEHTY,

Wi T IDPEENETTOY A >0 ROVTERWEET
%7,

Mincreased number of needle roller up to 256 pcs. and
6 tapered grooves inside of the chuck body exert
tremendous chucking force.

MEngagement of nose piece with chuck body creates
uni-body structure and increases the rigidity
tremendously.

MHighest quality material - Nickel Chrome Molybdenum
steel, hardened and sub-zero treatment guarantees
long life.




FERY—ILARE]

AREBHOBRIRY AN B, (@QcH)

FHiRIE P50 QUICK CHANGE HOLDER

Special tool is not required.

GAIIF T/ OFRIVE

ABT A ABTYI =
EREFRD VAV IFLIV IV ATLTY,

Quick change system makes BT shank tool holder for
machining center use with manual milling machine.

JE2E2—0 BT V=L

)

\ (QCH 7RIV &)

BT >v>oDV 750 2%&FRAULETFY MEFTIRE S AT L
Clamping/unclamping by a nut with V flange of BT shank.
TIWARY NRETHERATEE,

Possible to use your holder with retention knob.

WAR7 AR ossssans A BIBTAIL 4 (EFIRTAE
P Other brand BT shank holders also can be used.
<= <
WK1~ w

WBTY v Y=k E

ALY RV

BT50=>BT40-BT30
W= it a— ACH s BTARILADSBTARIL A ICEERIAE
T BT shank holder can be changed to other size BT shank holder.

= <«

e AL

WEBT v 7Y—=IEINE

BRAEY MY




SRS TR NRRTAL S FHREXIS
BMLET,

FHiR IS PB5

pL 1% 5

PULL IWWRENCH

=REREEA

FOR HIGH EFFICIENCY SETUP

"R

B7VARI S OBRED R THERICITAET.

BRIV S OFRTERALICL Y FHBEDE
PEHERICHETTRETT.

BLFHEFERLTEESEEA,

WELEIC K Y TR OBRHPHEVEEA.

Features ( Pull Wrench)

MEasy installing and removing of pull bolt.

M Secure installing and removing of pull
bolt without slipping of wrench.

MPull Wrench stays there by itself.

BNo deformation thanks to heat treatment.

W7o LF

Pull Torque Wrench

O L EIR

HICBT30 v Uid. 7RI MERDRSERD
ET—N\I Y UBBERL. EEBMIBERLE
BBH. WM IEBOERDTIVMLILYFE
ZRAELTHYET,

BT A ZHEEWNELETO T HFRBRICTHEALZZ0N, EEEEEEER

Special size is available upon request.

P BEEREE!!




@MENED

WWW.manyo-100ls.coJp  waoe i

15 TRIRETE
(ENPT VB BTTRRIC N ET)

SIS PBO

T FIcHE!

WiEY —UERBLED A

NERfIIE

LOCKING FIXTURE

=REREEA

FOR HIGH EFFICIENCY SETUP

T —/N—Ry MEBOEAER
FIIEFERLTEYET,

BEBEETEDYFURE.

&

WY —LRLEDTELYF 1 Y IRTNARY K
DEAFFERS L IR

Wit - WERDTIEERORVAT Y 3 TORHE
HETHE.

WY — VA DEHILEDS. 7 —/ I 7L
IAREEA.

Features (Locking Fixture)

Mideal for tool setting to tool holder and
installing/removing of pull bolt.

BGood workability for both vertical and
horizontal use.

BWAluminum alloy is used for taper contact
portion to prevent scratching on tool
holder.




FM 714 AINF—/N

FACE MILL ARBOR (TYPE-A)
T E—AN—FLIE—INHErTEE! (FT2a)

Coolant through oil hole type is available (option).
JIS B 4113RBIEE 771 A DY 2A7—/\
* BELRBRTEREZROD Y ZITHE.

Plenty types are available for various types of cutter. |

@MENRD

M H
= *FBIZHSHEFETRELS ZHAVELITET, Tk e
7 Can be widely used from roughing to finishing. G
7 — - ==
5 FIG1 m
)T, L H
T L« MBA
G
/\‘ //E O gL
= = | a 'C)
I — 171 | |
@) FIG2
m L H
= 5] K MBA
= MBA
- G
>
3 — H=n i) 2.
- -7} 0

—
-
~
2

>
=
o
=
SN

25

o a

‘ J | A
|
FlG4
E]A)—7
»47.625%X 60
CODE FIG ¢od L D H K W C C1 G
BT30-FM16 - 45 45 HCB-
— 1 16 = 32 16 5 8 MS
BT30-FM22.225 - 45 45 HCB-
— 1 22225 -5 45 18 4 8 M10
CODE FIG od L D H K W C C1 G
BT40-FM16 - 75 1 75 -
-100 100 HCB
-125 > 16 125 32 16 5 8 a8 - M8'
-150 150
-175 175
BT40-FM22.225 - 75 1 75 -
-100 100 HCB
-125 22225 | 125 45 18 4 8 - .
2 45 M10
-150 150
-175 175

WY 1 XKV EEN =LK Y. Special size is available upon request.
T RE—AN—FAIER—IDZHWIEEERIC (-OH) & ZHEREVET,
U E—AN—ICTZHERADBEIERHE VT TRV NDRIEBETYT . FMlIEP75
When ordering coolant through type, add “-OH" to the end of model number.
Special clamping bolt with coolant hole is required for coolant through type (See page 75).



®MENTL

-

TOOLING SYSTEMS

WWw.manyo-100ls.co.p  waoe

CODE FIG ¢d L D H K W C C1 G
BT30-FMA254 - 45 45 MBA-
T 1 254 —2— 50 22 | 5 | 95 33 | 1o
BT30-FMA31.75 - 45 3 | 381.75 | 45 60 30| 7 |127| - | 40 ",('/ﬁg'
CODE FIG ¢d L D H K W C C1 G
BT40-FMA25.4 - 45 45
- 75 ; 75 ~
-100 100 MBA-
o5 254 [~ -1 50 22 | 5 | 95 33 | 1o
-125 125
-150 2 150 60
BT40-FMA31.75 - 75 75
-100 100 MBA-
o 1 3176 5| 60 30 | 7 |127 a0 | Uls
-150 150
BT40-FMA38.1 - 75 75 MBA-
500 3 381 o571 80 34 | 9 | 159 50 | 20
CODE FIG ¢d L D H K W C C1 G
BT50-FMA25.4 - 90 20
-150 150 70
-200 200 MBA-
550 2 254 -0 50 22 | 5 | 95 33 | 1o
-300 300 75
-350 350
BT50-FMA31.75 - 45 45
- 75 75
-105 105 70
-150 150 MBA-
560 2 | 3175 55+ 60 30| 7 | 127 - 40 | Uls
250 250
-300 300
-350 350 80
BT50-FMA38.1 - 45 45
- 75 75
-105 105
-150 150 MBA-
560 1 38.1 200 | 89 34| 9 | 159 50 | 20
-250 250
-300 300
-350 350
BT50-FMA50.8 - 45 45
- 75 75
-105 105 MBA-
50 1 508 |—.o| 100 | 36 | 10 |19.05 65 | \ima
-200 200
-250 250
BT50-FMA47.625 - 75 75
-100 100 ~ _ | HCB-
50 4 | 47.625 — - 128.57 | 38 |12.5| 25.4 V16
-200 200

BB A X6 K VEENELET ., Special size is available upon request.

CODE

»47.625 X $ 60

13



FMB 7114 A3IWV7—/\

FACE MILL ARBOR (TYPE-B)
T E—AN—FLIE—INHErTEE! (FT2a)

Coolant through oil hole type is available (option).
Yo REy 7. taAIEm 751 AB
¢ EDLBBRTRREZHRE D Y ZITH.

Plenty types are available for various types of cutter.

@MENED

E L H L
w K HeB R MBA
7 G S 6
‘II’ /M = s @ /l[g \LWZ(TEQ NLF@C
2 \jﬂ \j{ e | 1
E FIGT FIG3 —
1V L H L
7 | K MBA 7] K
| llﬁ G
/\ // O = s %@D //ﬁ -
z — . — =R
(@) FIG2 T/UI[
m FIG4 —
=z
= BT40
> CODE FIG | 0d L D H] K] W CJCi] G
2 BT40-FMB25.4 - 75 75
o 100 100 MBA-
S os— 3 | 254 o= 78 | 26| 5 | 95 33 |MBA
150 150
BT40-FMB27 - 75 75
100 100 MBA-
e 3 27 55| 78 |26 6 | 12 33 |MBA
150 150
CODE FIG | o0d L D H] K] W/ CJci] G
BT50-FMB25.4  -150 150
200 200 BA
250 | 1 254 [ 250 | 80 |26| 5 95| - 33 NB8
-300 300
350 350
BT50-FMB27  -150 150
200 200
250 1 27 [250 | 80 | 26| 6 | 12 | - |33 MBX
-300 300
-350 350
BT50-FMB38.1 - 75 75
150 150
200 1 381 [200 | 85 | 26| 9 159 - |50 |NBA
250 250
-300 300
BT50-FMB40 _ -105 105
150 150 BA
200 | 1 40 [200 | 85 |26 85| 16 | - |50 M2
250 250
-300 300
BT50-FMB60 - 75 | 4 60 75 | 140 | 25 [125|254 | - | - | g5

WY 1 XKV EEN =LK Y. Special size is available upon request.
T RE—AN—FAIER—IDZHWIEEERIC (-OH) & ZHEREVET,
U E—AN—ICTZHERADBEIERHE VT TRV NDRIEBETYT . FMlIEP75
When ordering coolant through type, add “-OH" to the end of model number.
Special clamping bolt with coolant hole is required for coolant through type (See page 75).



CODE FIG | od L D H W Clci] G
BT30-FMC22 - 45 45 | |HcB-
= 22 22 45 | 18 10 s
BT30-FMC27 - 45 | 3 27 45 | 70 | 20 12 [ - [ - [mMi2
CODE FIG |  od L D H W [ Cci| G
BT40-FMC22 - 75 75
100 | 1 100 - | | HeB-
125 22 35| 45 | 18 10 M10
150 | 2 150 50
BT40-FMC254 - 75 75
-100 100 _ _ | HCB-
o 3| 254 122 68 |20 95 e
150 150
BT40-FMC27 - 75 75
100 100 | | HeB-
Soe— 3 27 122 68 | 20 12 s
150 150
BT40-FMC32 - 75 75 ~ | THce-
q00 | 3| %2 [qoo] B |2 14 M16
CODE FIG | od L D H W Cclci] G
BTS0FMC22 - 60 | | 60 i
105 105
150 150
2200 20 200 | 45 | 18 10 - | Hce:
250 | 2 250 60
2300 300
350 350
BT50-FMC254  -105 105
150 150
2200 200 | | HeB-
50— 1| 254 520+ 70 | 20 95 s
2300 300
350 350
BT50-FMC27  -105 105
150 150
2200 200 | | HeB-
il 27 520 70 | 20 12 B
2300 300
350 350
BT50-FMC32 _ -105 105
150 150
200 200 | | Hes-
il 32 Sgo- 85 | 22 14 ios
2300 300
350 350
BT50-FMC38.1 105 105
150 150
-180 180 _ _ | HCB-
So0— 1| 881 220 8 | 22 15.9 ios
250 250
2300 300

WU A AEEXICKYEENEZLET. Special size is available upon request.

15



(V)] FMP 75> 97—\ (@%UR GEREMIR)
- PLUNGE ARBOR (PLUNGE CUTTING & HIGH FEED CUTTING) @MﬂN"r‘d
I E=AN—=FLFE=IHeIEE! (F7aY) A

Coolant through oil hole type is available (option).

T ETEOESE. FEE. SR E1L.

High sguareness, flatness, accuracy on finished surface.
s EIFEDS Y HIFE A EHE L, No undulation on finished surface.
* £RIOFEVBIE (C8R3E, Ideal for deep cutting on die and mold.
* 3t DN T Thn I BRI 0D %G #E . Reduction of machining time on roughing and finishing.
* SR & B&&E R, High rigidity and for high speed cutting.

\'NIN, dINAS

~

A
7
I»

2

— | M N B ;;@

JAY
\Tj{ 3 ﬂ
T
|
(-
= BT40
g CODE D L1 L2 H D1 K W G
BT40-FMP16 __ -150 - 40 150 | 123 HCB-
= 200 - 40 6 |"200 [173 | '® |38 | 5 | 8 | msxg3s
o) BT40-FMP22  -150 - 50 150 | 123 e
By -200 - 50 oo 200 173 | g 5 10 HCB-
BT40-FMP22  -150 - 63 150 | 123 o M10 x 35
200 - 63 200 | 173
BT40-FMP254 -150 150 | 123
P 264 3201125122 |60 | 5 | 95| MBAMIZ2
= )
CODE D L1 L2 H D1 K W G
BT50-FMP16 - 90 - 40 90 52
120 - 40 120 | 82 HCB-
150 - 40 16 150 | 112 | '6 |38 | 5 | 8 M8 x 35
200 - 40 200 | 162
BT50-FMP22  -150 - 50 150 | 112
200 - 50 200 | 162
250 - 50 250 | 212
2300 - 50 300 | 262 48 | 5
350 - 50 350 | 312
2400 - 50 400 | 362
500 - 50 oo 500 | 462 | .o 1o | HoB-
BT50-FMP22  -150 - 63 150 | 112 M10 x 35
200 - 63 200 | 162
250 - 63 250 | 212
300 - 63 300 | 262 60 | 5
350 - 63 350 | 312
2400 - 63 400 | 362
500 - 63 500 | 462
BT50-FMP27 _ -150 - 63 150 | 112
200 - 63 200 | 162 .
250 - 63 27 250 | 212 | 20 |60 | 6 |12 | HCB
300 - 63 300 | 262
350 - 63 350 | 312
BT50-FMP27 __ -150 150 | 112
200 200 | 162
250 250 | 212 .
300 27 300 | 262 | 20 | 78 | 6 |12 | OB
2350 350 | 312
400 400 | 362
500 500 | 462

WY 1 XKV EEN =LK Y. Special size is available upon request.
T E—AN—FAIER—IDZRAWIEEERIC (-OH) & ZHRREVET,
U E—AN—ICTZHERADBEIERHE VT TRV NDRIEBETYT . FMlIEP75
When ordering coolant through type, add “-OH" to the end of model number.
Special clamping bolt with coolant hole is required for coolant through type (See page 75).



FMP 752 7—)\ (Z#\A FEREINIA)

PLUNGE ARBOR (PLUNGE CUTTING & HIGH FEED CUTTING)

@MEN

|j

ww.manyo-tools.co.ip  uape i s

BTSO

CODE D L1 L2 H D1 K W G
BT50-FMP25.4 150 150 | 112
2200 200 | 162 n
250 250 | 212 =
300 254 [300 | 262 | 22 |60 | 5 | 95| MBA-M12
350 350 | 312 0
400 400 | 362 -
-500 500 | 462 Z
BT50-FMP22.525 -150 - 50 150 | 112 4
200 - 50 200 | 162 >
250 - 50 250 | 212 5
2300 - 50 300 | 262 47 | a4
350 - 50 350 | 312 7
-400 - 50 400 | 362 |
500 - 50 500 | 462 HCB- S
BT50-FMP22.225  -150 - 63 |22225 150 [ 112 | '8 8 M10 x 35 a
200 - 63 200 | 162
250 - 63 250 | 212 P
2300 - 63 300 | 262 60 | 4 c
350 - 63 350 | 312 =
2400 - 63 400 | 362 1)
500 - 63 500 | 462 m
BT50-FMP31.75 150 - 80 150 | 112 >
200 - 80 200 | 162 Y|
250 - 80 250 | 212 8
2300 - 80 300 | 262 76 | 7 9
350 - 80 350 | 312
400 - 80 400 | 362
500 - 80 500 | 462 HCB-
BT50-EMP31.76 __ -150 -i00 | 375480 [ 112 | 30 1271 M16 x 40
200 -100 200 | 162
250 -100 250 | 212
2300 -100 300 | 262 96 | 7
350 -100 350 | 312
400 -100 400 | 362
2500 -100 500 | 462
BT50-FMP38.1 150 -125 150 | 112
200 -125 200 | 162
290 o1es 381 (5201555134 |98 | 7 |159| MBA-M20
2300 -125 300 | 262

WEHY 1 ZEEUCKVEENZLET . Special size is available upon request.
T EB—RI—F A IFKR—=IOZRAWIIERIC(-OH) &£ ZIERBEVETY,
U EA—ZAN—ICTZERADBARIERHE VTV TRV NDREBETT FMIEP75
When ordering coolant through type, add “-OH" to the end of model number.
Special clamping bolt with coolant hole is required for coolant through type (See page 75).

FMP Y1 KAy a2@7—/\

SIDE CUTTER ARBOR (FMP)

BT40

CODE D L1 L2 H D1 K W G
BT40-FMP27 105 - 50 105 | 78 oy
150 - 50 | 27 [ 150 | 123 | 20 | 48 | 6 | 12 | OB
200 - 50 200 | 173
BT50
CODE D L1 L2 H D1 K W G
BT50-FMP27 105 - 50 105 | 67
150 - 50 150 | 112 .
200 - 50 200 | 162 HCB-
250 - 50 | 27 [250 | 212 | 20 | 48 | 6 | 12| Mi2x 35
2300 - 50 300 | 262
350 - 50 350 | 312

WY 1 XKV EEN =LK Y. Special size is available upon request.
T E—AN—F A ER—IDZHWIEEERIC (-OH) & ZHEREVET,
T R—AN—ICTZERADBEIERHE VTV TRV NDRIEBETYT . FMlIEP75
When ordering coolant through type, add “-OH" to the end of model number.
Special clamping bolt with coolant hole is required for coolant through type (See page 75).



Bt 77 o7—N

PLUNGE ARBOR WITH CARBIDE BAR

MMHNAL
5 Features o T——
+ EEVICEROERIET—/N,
High rigidity arbor for less vibration.
2 I:I_:z I\o
Low cost.

i » QTR (B T X8IC & ERAE),
EE Two face contact shank(Can be used for BT spindle also).
58 B B— AN —F A AR,
'ﬂ$ Coolant through body.
Z
I
4
:/“ 17 H
— 0
[ L
A — T
— | =L B
_U Q
: —
q
g @t
m
>
% CODE D L1 L2 H D1 K W G
TBT50-FMP16CB -150 - 40 150 112 HCB-
S 200 - 40 | '® [200 | 162 | '® 38| 5 | 8 | Mgx 35
= TBT50-FMP22CB -250 - 50 250 212 HCB
I -300 - 50 22 300 262 18 | 48 5 10 M1 o->< 35
I -350 - 50 350 312
(@) TBT50-FMP22CB -250 - 63 250 212 HCB
:5 -300 - 63 22 300 262 18 60 5 10 M1 O->< 35
w -350 - 63 350 312
O TBT50-FMP31.75CB -250 - 80 250 212 HCB
m -300 - 80 31.75 | 300 262 30 76 7 12.7 M1 6->< 40
g -350 - 80 350 | 312
) BE 2—AN—ICTZERDBEERHE I Z TRV NDREVETY.,
Special clamping bolt with coolant hole is required for coolant through type.
EREO T 77—\ (&=
FMLW shZe@EE207 7—/\ (&E%VA)
LIGHT WEIGHT HOLLOLW TYPE ARBOR (HIGH FEED CUTTING) »
- [
CODE D L1 L2 | H |D1]| K W Kg G
BT50-FMLW22 -250 - 63 250 | 212 6.8 HCB
-300 - 63 22 300|262 | 18 | 60| 5 10 7.4 M1 O->< 35
-350 - 63 350 | 312 8.0
BT50-FMLW22.225 -250 - 63 250 | 212 6.8 HCB
-800 - 63 |22225|300|262 |18 |60 | 4 8 7.4 M1 O->< 35
-350 - 63 350|312 8.0
BT50-FMLW31.75 -250 - 80 250 | 212 8.7
-300 - 80 300 | 262 76| 7 9.7
-350 - 80 350 | 312 10.7 HCB-
BT50-FMLW31.75 -250 -100 31.75 250 | 212 30 127 11.4 M16 X 40
-300 -100 300 | 262 96 | 7 129
-350 -100 350 | 312 14.4
BT50-FMLW38.1 -250 -125 250 | 212 12.0
-300 -125 38.1 300 (262|134 |98 | 9 (159 13.6 MBA-M20
-350 -125 350|312 15.1

BEHYA X 2—AN—F M IWAR—=IEREEIC KV EHEVNVELET,
Special size and coolant through type are available upon request.



FILEA > O—iREDSF A IHR—ILf}
HY ZINT—F 2 MR,

Coolant can be supplied to cutter with

oil hole from end face of pilot.

—

®MENTL

TOOLING SYST!

& WWw.manyo-100ls.co.p  waoe

CODE D L C1 H W K G
BT30-FMH16 29 - 35 29
=22 16 35 = 16 8 5 M8 x 25
BT30-FMH22 47 - 40 20 40 a7 18 10 M10 X 30
CODE D L C1 H W K G
BT40-FMH16 29 - 60 60
e 16—k 29 16 8 5 M8 x 25
BT40-FMH16 37 - 60 60
oo 16— 37 16 8 5 M8 x 25
BT40-FMH22 47 - 60 60 2y . 0 s M10 % 30
105 oo Lgf
BT40-FMH22 60 - 60
os S 60 18 10 5 M10 x 30
BT40-FMH27 60 - 60 60
oo 27 | 60 20 12 6 M12 x 35
CODE D L C1 H W K G
BT50-FMH16 29 - 60 60
105 105 | 29
150 150
BT50-FMH16 37 - 60 16 60 16 8 5 M8 x 25
2105 105 | .
150 150
200 200
BT50-FMH22 47 - 60 60
105 105
150 150 | 47
200 200
250 250
BT50-FMH22 60 - 60 22 60 18 10 S M10 > 30
105 105
150 150 | 60
200 200
250 250
BT50-FMH25.4 60 -60 60
105 | 25.4 | 105 | 60 22 | 95 5
150 150
BT50-FMH27 60 -60 60
105 105
150 150 | 60
200 200 M12 x 35
250 250
BT50-FMH27 76 - 60 27 80 20 12 6
105 105
150 150 | 76
200 200
250 250
BT50-FMH31.75 - 76 - 60 60
105 105
150 150 | 76
200 200
S o—131.75 520 30 | 127 | 7 M16 x 35
BT50-FMH31.75 - 96 - 60 60
105 105 | 96
150 150

19



(V)] ST-FMH #A1)vat—) ity SA7—/N
ARBOR FOR CUTTERS WITH OIL HOLE

5 Features L U__H

¢ RIVEA > O—iKED S F A IR—IUfS - K
Dy EaNT—Z pMiE,

@MENRD

WWW.Manyo-100lS.cop  wave

Coolant can be supplied to cutter with
oil hole from end face of pilot. I y il ;
=
w Q D I & J G
% [ | i G
E FBRIRIN (18S)
T CODE d D L L1 | L2 |C1 | C2| H W K G
j— ST32-FMH16 :gg _1-58 16 12000 29
;E ST32-FMH16 37 20 | . 20 | ~ [, 37|16 8 | 5 | M8 x30
_J_ -37 -100 100
a ST32-FMH22 47 25 25
I 27 -100 22 32 | 75 [100 47 18 10 5 M10 x 30
ST32-FMH25.4 -60 -25 25
-60 -100 254 100| 10 60 43 22 195 5 M12 X 35
ST32-FMH27 -60 -25 27 25 60 20 12 6
ST32-FMH31.75 -76 -25 [|31.75 25 76 30 13 7 M16 x 35
ST32-FMH32 -76 -25 32 25 76 22 | 14 7

FMP 75T ATvav

PLUNGE ARBOR EHTENSION

>
) ~e -
@ ZEMI YadA»7—/N FMPR
By ¢ RRREOMIT. 7—N\DODREPPVP LRV EWVEFICENDZREBEWVELET,
8 Extension easily adds extra length of arbor for deep cutting on die and mold.
5] K*l_i/-” ‘
2 o |
o _
o q
= {Ef== { e==—=n /
m Hep
3 L H
§ CODE d L D H K W | H1 | K1 | W1 G
:_I:| FMP22-0OD48 - 50 50 48 M10 x 80
-100 100 M10 X 130
(I=) -OD60 50 22 50 oo 18 5 10 | 20 | 6.3 |104 M10 x 80
T -100 100 M10 x 130
(@) FMP27-OD73 - 50 50 M12 X 80
E 100 27 100 73 | 20 6 12 | 23 8 12.4 Mi2 < 130
FMP22.225-0D47 - 50 50 a7 M10 x 80
-100 100 M10 x 130
-OD60 50 22.225 50 o 18 4 8 19 5 8.4 M10 x 80
-100 100 M10 x 130
FMP31.75-OD76 - 60 60 76 M16 X 95
-120 120 M16 X 160
-OD96 60 31.75 60 o6 30 7 |[12.7| 32 8 12.7 M16 x< 95
-120 120 M16 X 160

B Y A XEHEXCKVEENZLEY, Special size is available upon request.

'k

FMP 75 O &BT7H T 5—
(CONVERSION ADAPTER)
NEEUR FERSIMIADY Z—FHRT7—/N

+JE

K|

UL

e

L H

CODE d D1 L|D|H|K|W]|HT| K1]|W G
FMP22 - 22.2250D48 - 35 | 55 |o2205 |28 4| 8 |20|6.3/10.4| M10 x 65
“OD60 - 35 2560 1o
FMP22.235 - 22-0D47 - 35 a7
Obee a2 22225 22 s 5/10|20| 5 |84 | M10 x 65
FMP31.75 - 32 -OD76 - 50 76
oo o0 13175 | 382 |501l2122| 7 |14|32| 8 [127|M16 x 85

WEHY 1 ZEEUCKVEENZLET . Special size is available upon request.



ST-FM AL —=bv2 74 AXAIINT—I/N
'_@Mﬂw

STRAIGHT SHANK FACE MILL ARBOR %
T E—AN—FLIE—INHErTEE! (FT2a) R,

Coolant through oil hole type is available (option).

2=V TF vy T . ZERSEZL,

Use with milling chucks.

* EBE LB TZEZHREGE T — 72X, Plenty types are available for various types of workpieces.

EG
CEl
d
D

%]
m
L
=
A
b
L
|
y
b
—\1
v
7
7
I
S
2
w
7
X
VA

HCB
CODE ®d oD |®#D1] L | L1 H | W | K | oCc| G
ST32-FM16 - 70 70
150 16 32 [160| 15 | 16 | 8 5 - HgB'
200 200
ST32-FMC22 - 70 70
150 22 45 [150| 16 | 18 | 10 | 5 - H?g"
200 200
ST32-FMC27 - 70 70
-150 27 ap | 48 [ 150| 20 | 20 | 12 | 6 - H?g
200 200
ST32-FM22.225 - 70 70 HoB. Q
150 22225 45 [150 | 15 | 18 | 8 4 - | HCB Y
200 200 £
ST32-FMA25.4 - 70 25.4 50 | 70 | 16 | 22 |95 | 5 | 33 | MBS —
MBA <4
ST32-FMA31.75 - 70 31.75 60 | 70 | 20 | 30 |127| 7 | a0 | MBA <
Z
=
sT42 o
CODE ®d oD |®oD1] L | L1 H | W | K | #aC | G )
ST42-FM16 - 80 80 HoB 2
150 16 32 [1560 | 15 | 16 | 8 5 - s =
200 200 -
ST42-FMC22 - 80 80 >
150 22 45 [150 | 16 | 18 | 10 | 5 - ',\",I?g‘ e
-200 200 %
ST42-FMC27 - 80 80
150 27 48 [1560 | 20 | 20 | 12 | 6 - | HeB-
200 200
ST42-FMC32 - 80 80
150 32 42 | 65 [150 | 20 | 22 | 14 | 7 - ',\",I?g‘
200 200
ST42-FM22.225 - 80 80
150 20025 45 [150 | 15 | 18 | 8 4 - ',\",I?g‘
200 200
ST42-FMA25.4 - 80 80
150 25.4 50 [150 | 16 | 22 | 95 | 5 | 33 | MBS
200 200
ST42-FMA31.75 - 80 80
150 31.75 60 | 150 | 20 | 30 |127| 7 | 40 _“,(',ﬁ%
200 200

WY 1 XKV EEN =LK Y. Special size is available upon request.
T RE—AN—FAIER—IDZHWIEEERIC (-OH) & ZHEREVET,
U E—AN—ICTZHERADBEIERHE VT TRV NDRIEBETYT . FMlIEP75
When ordering coolant through type, add “-OH" to the end of model number.
Special clamping bolt with coolant hole is required for coolant through type (See page 75).



(V)] HMA Ny KRR 4—F—/\ (V25— R
HEAD MASTER ARBOR (FOR MODULAR MILLS)

5 Features
* 2RPBROMIICH VO THRERERENICEM LW ELEXT,

Processing efficiency is drastically improved on die & mold and parts machining.
Ny R TITEEEDE .
Modular head style makes tool management easier.

é CFBOB. ETHBEBMILTERLTWARTET,
> Arbor body can be modified to avoid interference.
~ oa—MAZXHP5AaAYIVALXETINGA VTV T,
w Variety of projection length.
S * £ R—AI—F A IR—ILHS.
Coolant through body.
<
A (al
a £ Y
|
7 HEAY KX—H—
JAY 2> A0/ /G TLY IR
EA4TTY b E 15—y R
2 FFAZRI AIYa—FYIVRIL
JU> = W SECO aAVEYAZ—AY R
. SANDVIK ® a7—a03I)
?, h? @1{ T =BT UTIL D R
- 1 | ] e ~ — -
% ~ BHi>Y—IJv t>a17—3I)b
_|
o m 1 AAH RILFIAEZ—KL
> NEMIFES (RSP X+ >0 pE L ThhiL
g L1 fay N ZFERWNEEITET.
9 A O
CODE Mt X ¢od dFE
HMAS8 M8 8.5
HMA10 M10 10.5 9
HMA12 M12 125
HMA16 M16 17.0
BT30
CODE L L1 M od ®D ® D1
BT30-HMAS8 - 45 45 23 16
_ 85 85 63 ma 8.5 14.5 211
BT30-HMA10 - 45 45 23 20
85 85 63 M10 10.5 18.5 25 1
BT30-HMA12 - 45 45 23 25
-85 85 63 M12 12.5 23.5 30,1
BT30-HMA16 - 45 45 23
85 85 63 M16 17 29 32
BT40
CODE L L1 M od ®D ® D1
BT40-HMAS8 - 45 45 18 16
_ 85 85 58 ma 8.5 14.5 205
BT40-HMA10 - 45 45 18 20
T 85 58 M10 10.5 18.5 545
BT40-HMA12 - 45 45 18 25
- 85 85 58 M12 12.5 23.5 29.5
-135 135 108 34.8
BT40-HMA16 - 45 45 18 32
- 85 85 58 M16 17 29 35
-135 135 108 40.3

WEFER Y+ XKV EEN =L E T . Special size is available upon request.



(V)] HMA Ny KR RE—F—/\ (V25— R

HEAD MASTER ARBOR (FOR MODULAR MILLS)

BTSO

CODE L L1 M od oD ® D1
BT50-HMAS8 - 85 85 47 194
135 135 97 M8 85 14.5 246 T
BT50-HMA10 - 85 85 47 20 <
135 135 97 M10 10.5 18.5 286 >
BT50-HMA12 - 85 85 47 25 ~
-135 135 97 33.6 W
-185 185 147 M12 125 235 38.9 N
-250 250 212 457 Ev4
-300 300 262 50.9 A
BT50-HMA16 - 85 85 47 32 g
-135 135 97 39.1 |
-185 185 147 M16 17 29 44 .4 7
-250 250 212 51.2 |
-300 300 262 56.4 JAY
WY ZEIUCKWEIEN =L ET . Special size is available upon request.
I
N [N “ W :\\ — v ke m
HMA-ST AML=brv27 ANYRIRAZ=T =\ (£V17-"V I R) 2
STRAIGHT SHANK HEAD MASTER ARBOR (FOR MODULAR MILLS) ?)
. oy R |
%R Features ’@ﬁ’\{ RX—=7 _ m
* SRPMAOMIICHVTERRERBMICALNELET, gxpar Ay g7Liox >
Processing efficiency is drastically improved on LY /I:L7 \/ — %
die & mold and parts machining. gj(;é's”l’ X?é—_’-_j/ll\/ |t<)" o
Modular head style makes tool management easier. — Z17 =
=== TU7IN | ROUa—Aa2Y—I)L
0=F;‘$0)k~E'F§I37&iJJ_u_I b’(ﬁ}ﬂb’(t\f:ﬁb‘it By —IL EO215—3J
Arbor body can be modified to avoid interference. L2HIL TINFTRAZ—<

* A=A —F A IKR— IV,
Coolant through body.

BEHIE (XA XA >OR) DR L THIIE
iy NS BV ERITERT.

D2

FlG1 1 %

D2

FIG2 L1

CODE FIG [éD2] L | L1 [ 2 | 3] M | #d | oD | oD1
ST16-HMAS8 150 150 | 120 | 30 | _ ~
129 1 16 32012330 M8 | 85 | 145
ST2O-HMATO  -150 150 | 120 | 30
-200 1 | 20 [200 [ 150 | oo | — |Mi0| 105|185 | -
250 250 | 200
STO5-HMAT2  -150 150 | 120 | 30
-200 1 | 25 1200 1150 | 50 | _ | m12 | 125|235 | -
250 250 | 500
-300 300 100
ST32-AMAT6  -200 200 [ 150 | g,
250 1 | 32 [ 250 - -
228 2551 200 40 Mi6 | 17 | 29
ST42-AMAT6 __ -400 2 | 42 | 400 | 150 | 250 | 30 405

WEHY 1 ZEEUCKVEEN =L ET . Special size is available upon request.



(V)] HMA-SCA x& )= 5 TRk
METAL SAW) CLAMPING BOLT -
Sl

5 Features

ey RIAZ—TF—/I\ERHHFRIV T
ZEX 2 —DEH(B3mmZE T) XS

Metal saw up to 3mm thickness can be mounted

by special mounting bolt. \'\
* ERERI MR TERBBOTFSHIER IO (N -

IIEERMPUPWZLET,

Less interference thanks to special thin head bolt

. (METAL SAW CLAMPING BOLT) WRAZOVE  EAKILA
4 CODE DI D2 D3| M | E | SLOT Holder
. o m HMA 8 -SCAT2 12 1165 20 [M8| 5 | MSSH-32 | BT.HSK.ST-HMA 8
I ==in B HMA10-SCA13 13 | 21 | 24 [Mi0] 6 | MSSH-40 | BT HSK ST-HMA10
= il HMAT2-SCA1S875(15.875 26 | 26 [M12| 8 | MSSH50 |BTHSKSTHUALZ
HMA16.SOA254 | 254 | 40 | 4
LL L HMA16-SCA31.75 | 31.75 46 | a6 |M16] 10 - |BTHSKST-HMA16

W% - ZHFUT KV EWEL 2 LK T . Special size is available upon request.
BNy RYAZ—T7—=N\F.P2223% B8R /ZX ). See P22,23 for Head master arbor.
BXZIY—HyEZ—FRBLTHYEHEA. Not include metal saw cutter.

MSSH €2a17—-AO0YbAv &

MODULAR SLOT CUTTER

¥ Features
oY R AR =7 —/NICBfFHI@HS R I A MR
Using with HMA arbors helps cost reduction.
* SERIFEBDFEHI TS IMIHRSPUPVELET,
Processing efficiency is improved thanks to no interference in nose portion.
*J 1)y RNy RTHBMETTRET O TRER.
Solid head can be regrinded.
s O—F 247D Hy ZELEBL TERIE. EED BEDEHR.
Higher rigidity and better surface finish than brazing type cutter.
* P HEE D IEE ICE VIR IERIK.

Newly developed tool edge . .
design with very high cutting (MODULAR SLOT CUTTER-SH) (No.of Teeth) BRI b

chip discharging. CODE D | T d W RE CLAMP BOLT
o B - SREOGHI—7 (MSSHIZIS

T
=
>
(0p]
O
>
X
X
)
Y

|
g
E4
v
PA
K
)]
b
=
m
>
I
4
=
(@)
.
>
=
0
Z
(®)
(0]
(@)
e

> DR CEE S LAY 20 32
KigUP WELETY, 30
Processing efficiency is MSSH-40-20
drastically improved thanks to 25
special coating long life cutter 30 40
with high heat resistance and -40

hardness. MSSH-50-20
-25 50
-30
-40

(MODULAR SLOT CUT
CODE D
MSRH-32-0.75R
-1.0R
-1.25R
-1.5R
MSRH-40-1.0R
-1.25R
-1.5R
-2.0R
MSRH-50-1.0R
-1.25R
-1.5R
-2.0R
WS A XKV EEN= LK Y. Special size is available upon request.
By R AR —7—/\IF.P22,23% BB 72X\, See P22,23 for Head master arbor.

12 3 6 HMA 8 -SCA12

13 |45 6 HMA10-SCA13

156.875| 6 8 HMA12-SCA15.875

P QININIA GININI G N NI =
olo|uno|ojo|u|olo|un|oo

(No.of Teeth) ERAI B
X CLAMP BOLT

—
m
0
ny)
E=

—
o
=

32

N
w

6 HMA 8 -SCA12

40 13 |45 6 HMA10-SCA13

50 16.875| 6 8 HMA12-SCA15.875

QNN GOV GO =
o|ujo|o|ojun|o|ojuio|u

»
o




()] HMA BRIV RINDY S

CHAMFERING ENDMILL CUTTER

HEI > RIILAHY A& (Chamfering Endmill Cutter) WRARILA
i) N FIG d D D1 L G F v 7 Insert Holder
HMAS8-C8-45 1 8 20.1 85 M8 BT,HSK,ST-HMAS8
HMA10-C20-45 5 20 32.1 10.5 30 M10 SCMT09T308 BT,HSK,ST-HMA10
HMA16-C30-45 30 | 46.6 17 40 | M16 | SCMT120408 | BT,HSK,ST-HMA16
WY A XKV EEN = L% T . Special size is available upon request.
RO8 Fv 7 (Insert) #BRHY R
i il B A T 6 x< Screw L >F Wrench Cutter
¥ [ ScMT09T308 |9.525| 397 | 7° | BFTX0409N TF15 HMA8,HMA10
m Ml SCMT120408 | 12.7 | 4.76 7° BFTX0511N TF20 HMA16
. >
MCA X&' )—7—IN y

METAL SALW) ARBOR

¥ Features
*HR7—/N\TEEX ZIVJ —DERHE.

Various thickness of metal saw can be mounted. LI
¢ FHIBOFEHAL G MIERAUPLEY. rryyrrm
Processing efficiency is improved thanks to P BEEES !

no interference in nose portion.

¢ BIRIRICKY) BB OMSATHE.

Some metal saws can be mounted by using collars.

& F—(IBEATHE,

Comes with removable key.

NO—RIL b~

AW — % 2RE T HIEHHEET,
(HZ—IEHE)

M J
\ T
f '_T I
. = Tol _
2 L] | 3
] | B

CODE D1 D2 d L1 L2 L3 L4 L5 M Wrench
ST20-MCA15.875 -140 26 | 20 [15875 40 | 100 | 140 | 20 8 M6 | 3mm <A
ST20-MCA25.4 -150 40 | 20 | 254 | 55 | 95 | 150 | 33 | 20 | M6 | 3mmAH
ST20-MCA31.75 -150 46 | 20 |31.75] 55 | 95 | 150 | 33 | 20 | M6 | 3mm A
ST32-MCA25.4 -150 40 | 32 | 2564 | 55 | 95 | 150 | 33 | 20 | M6 | 3mmAH
ST32-MCA31.75 -150 46 | 32 |31.75] 55 | 95 | 150 | 33 | 20 | M6 | 3mm /<&

BFE—REBLTHEVETH AT —FRIER I ZE 0N,

Comes with key, purchase collar separately.

eSSz HSHE VINH

0
I
>
<
T
m
By
z
o)
m
z
]
=
—
[
0
C
_|
_|
m
By




SCA ¥4 KBy a7—/

SIDE CUTTER ARBOR

*SEELERTEESHLE T — IS,

Plenty types are available for various types of workpieces.

%)

(@)

>

.'j.

1

N

7‘3 L H M3 H1

5(/ L 2]

q -

N = Fﬁ* [l
Q

L h5— 651020 dfi Fyh

H H3 H1
2| H2

Ter ] B 2R

&

= O
ﬁ o
B7— (510, 20) % M/%'

a—
— C
i
C1

M
\

&
O
m
0
C
-
-
m
iy,
>
by,
©
o
by,

BT30
CODE FIG od LU D[H]WIJ[HI [H2][H3]CH
BT30-SCA127 - 60 12.7 20 - |12 [17 ] 15[ 20
SCA15.875 - 60 5 | 16875 | | _ | 26| ., 318|183 | 23 | 16 | 26
SCA22.225 - 60 22.225 34 3.18| 18 [ 30 | 21 | 34
SCA254 - 60 25.4 40 6.35| 21 [ 32 | 25 | 40
BT40
CODE FIG| ¢d L L1 D[] C |6 ]H|W]J[HI[H2|H3]|CH
BT40-SCA22.225 -100 | 2 100 | - - | -
-150 ;| 22225 [150| _ |34 396/ .. 3.18/ 18|30 | 21 | 34
-200 200 44.8
BT40-SCA254 -100 | 2 100 | - - o
50 T 254 He0T 70140 437 2 6.35/ 21 | 32| 25| 40
BT40-SCA31.75 100 2| 3175 990 _ 46| - | - 7.92/ 26 | 41|30 | 46
-150 150 30
BT40-SCA22 -100 [ 2 100 | - - | -
-150 ] 22 | 150 _ |34/396] . 6 | 18|30 |21 |34
-200 200 44.8
BT40-SCA27 100 [ 2 100 | - - | -
150 |1 27 [1s0] 70 |*° (237 2 7 ]21]82]25)40
BT40-SCA32 -100 100
g | 2 82 9zl C |46 - | - 8 | 26|41 |30 46

BHZ5—(5.10.20)Fv b F—fF&. Comes with collar (5,10,20) nut and key.
TR XKV EEN=LEJ . Special size is available upon request.



CODE FIG éd L L1t |D| C |8 | H| W |H1|H2|H3]|CH

BT50-SCA254  -150 150 48.6
-200 200 556 .
250 1 254 550 50 | 40 626 4 6.35/ 21| 32| 25|40
-300 300 69.6

BT50-SCA31.75 -150 150 54.6
-200 200 616| ,. |30
250 1 31.75 550 50 | 46 686 4 79226 |41 | 30| 46
-300 300 75.6

BT50-SCA38.1 -150 150 59.3
-200 1 38.1 200 | 50 | 55|628] 2° 9.62| 31|46 | 36 | 55
-250 250 66.3

BT50-SCA50.8 -100 100
-150 2 508 |150| - |72| - - |40 |12.7/ 45|55 |48 | 72
-200 200

BT50-SCA27 -150 150 48.6
-200 200 556, .
250 1 27 550 50 | 40 626 4 7 121|32]25]|40
-300 300 69.6

BT50-SCA32 -150 150 54.6
-200 200 616| ,. |30
250 1 32 550 50 | 46 686 4 8 |26 |41 |30| 46
-300 300 75.6

BT50-SCA40 -150 150 59.3
-200 1 40 200 | 50 | 55|628] 2° 10 | 31 |46 | 36 | 55
-250 250 66.3

BT50-SCA50 -100 100
-150 2 50 150 - | 72| - - 140 | 12 | 4555|4872
-200 200

HZ7—(56.10.20)Fv b F—F&, Comes with collar (5,10,20) nut and key.
B A XEHEXCKYEENZLET ., Special size is available upon request.

-V TF Yy I TIERSIZZL,

47— (51020

T
1 25 |
L 30 30 H
CODE oD | ¢D1|oD2| L H W G H1 H2 | C1
ST32-SCA15.875 - 30 15.875 26 16 | 3.18 | M14 x P1.5| 13 | 23 | 26
ST32-SCA22.225 - 30 22225| 32 | 34 | 120 | 21 |3.18|M20x P15 18 | 30 | 34
ST32-SCA25.4 - 30 254 40 25 [6.35|M24 x P2.0| 21 32 | 40
CODE oD | ¢D1|oD2| L H W G H1 H2 | C1
ST42-SCA15.875 - 30 15.875 26 16 | 3.18 | M14 x P1.5| 13 | 23 | 26
ST42-SCA22.225 - 30 22225 42 | 34 | 120 21 |3.18|M20x P15 18 | 30 | 34
ST42-SCA25.4 - 30 254 40 25 [6.35|M24 x P2.0| 21 32 | 40

HZ7—(5B.10.20)Fv b F—FfFZ, Comes with collar (5,10,20) nut and key.
WY A AEEXICKYEENEZLET. Special size is available upon request.



MMC SNV IR I=VIF¥V7

MILLMAK MILLING CHUCK

@MENED

1£1ED
+RLASHBO=— KO- EREEBDHLOES
ICERLNE6 & FOBICT —/\— & BB &
BENF vy 7.

Increased number of needle roller up to 256 pcs. and 6
tapered grooves inside of the chuck body exert tremendous
chucking force.

EE{RL
o F vy OxhA S 150mmoiICT10 u ZREE.

Guaranteed accuracy within 10 micron at 150mm from
chuck nose.

Vs
Ap

Sy IaLEVTTUEERT B,
* B ERAROY T EOMNEEKE L T REFDERIL

Highest quality material - Nickel Chrome Molybdenum steel,
hardened and sub-zero treatment guarantees long life.

=
&R ﬁ\ %ﬁ Sealed mechanism

D
-

<
<
@)
I
~
v
7
A
I
Y
7
}
—\1
4
7
=
[
—
<
>
x
=
—
C
Z
o)
o)
I
c
o)
X

Bl Q
¢d L D H G
BT30-MMC20 - 75 75
90 20 g 52 67 M18 x P1.5
BT40
CODE ¢d L D H G
BT40-MMC20 - 90 90
-120 120
5o 20 150 52 67 M18 x P1.5
-200 200
BT40-MMC25 - 90 90
120 120
5o 25 1e0 60 80 M18 X P1.5
-200 200
BT40-MMC32 - 90 90 80
105 105
120 32 120 73 g7 M18 x P1.5
-150 150
-200 200
BT40-MMC42 120 42 120 93 90 M22 x P1.5

BaLy MNLYF N7V TR 31— 3B LTH Y EEA. FEMIFP29,30
Purchase collet, wrench and back-up screw separately (see P29,30).
WEHEY  ZEEXCKVEMENZLET., Special size is available upon request.



MMC SNV IR I=VIF¥V7

MILLMAK MILLING CHUCK

@MENED

BTS0O

CODE od L D H G
BT50-MMC20 -105 105 =
-150 150 =
-200 200 @)
= 20 550 52 67 M18 X P1.5 3
-300 300 i
-350 350 <
BT50-MMC25 -105 105 Y
-135 135 7
-150 150 A
-200 25 200 60 80 M22 x P1.5 3
-250 250 |
-300 300 1)
-350 350 >
BT50-MMC32 -105 105 i
-120 120 F
-135 135 ¥
-150 150 71
-200 200
— 32 550 73 87 M22 x P1.5
-300 300 =
-350 350 =
-400 400 >
-500 500 X
BT50-MMC42 _ -105 105 =
-120 120 C
-135 135 GZ)
-150 150 o
-200 200 I
= 42 550 93 105 M22 x P1.5 =
-300 300 A
-350 350
-400 400
-500 500

RWaOLy MLYF NV IT7Y TR a— B LTHEY EEA. FFlIFP29.30
Purchase collet, wrench and back-up screw separately (see P29,30).
WS 1 ZHEUCKYEEN =LK Y . Special size is available upon request.

LF

WRENCH

CODE LENGTH CHUCK
FS-20 210 MMC20
FS-25 240 MMC25
FS-32 270 MMC32
FS-42 270 MMC42




@ MC AkL—haLvh
STRAIGHT COLLET

COMHINEL
CODE od D | L L .
MC20- 6. 8. 10. 12. 16 20 | 53 |
MC25- 6. 8. 10. 12. 16. 20 25 | 60 i ‘
MC32- 6. 8. 10. 12, 16. 20. 25 32 65| & S
MC42- 6. 8. 10. 12. 16. 20. 25. 32. 40 | 42 | 80 i |

B Y A XEEC K

—

U4

™

WelL&EYd., Special size is available upon request.

MC42-40

MC-MT 7—/NA)—=7

TAPER SLEEDE

=
o
A
b
L
I
b
|
L
%
b
%2}
—
Y]
>
9}
I
—
9]
e)
m
m
-

CODE MT D .
MGC20-MT MT1 20 of BT 7]
MC32-MT MT1. MT2. MT3 32 © M/
MC42-MT MT1. MT2. MT3. MT4 42
——y HE > <)

D=2 21T HERY
ADJUST SCRELD FOR COOLANT TYPE
INVGTY TR 1—
BACK-UP SCREW L
CODE d D L C ; c
M18-SN5 B 5 | 60 | 35 -
-SN11 M18P=1.5 11 50 | 25 25 1

M22-SN5 5 | 70 | 45 - : 2 g]
SN11 | M22P=15| 11 | 60 | 35 | 25 S i_&
SN18 18 | 50 | 25

BERINY YT TAYY 1~ L

BACK-UP SCREW FOR HIGH PRESSURE H h

CODE d D L H h

HRMS1 1 M11P=1.0 | 8 | 25 | N4 —
HRMS15 | M15P=15 | 12 o 3 [ P6 - = o
HRMS18 | M18P=1.5 | 15 | .. 4 | P9 :

HRMS22 | M22P=15 | 19 5 | P12 Oring



(Y MTC 8O I RYLF vy oA

SUPER LONG SLIM CHUCK HOLDER

Y5 Features
*FHEZERLUAER) LF v v Uitk

Less interference with slim body.
S FROTINIICEE R ZFEREE IR NEERDATREICKR WV ET,
Standard drill can be used for deep hole drilling. It helps cost reduction.

* RBDIRNFEES umLLT,

High precision. (less than 5um)

* NYBREDES . BELERRESTETY,
Easy chucking and removing.
No expensive special equipment required.

* VT IVEETEREEUP,

Workability improvement with simple structure.

* IV RIIARERE EINTICEE,

Endmill type is ideal for finishing of die and mold.

=
—
9]
8
O
7
A
1
L
9’.
_\1
v
7
R
e
X

all KL, V—<H sy MTC aL v b (Collet)
61 (For Drill and Reamer) CODE d H1
, % - MTC 86| 6
“E “I ; ! N 8] 8 26
MTC 12-6| 6
Al [ H - _8 8 30 8
Aoz h 10| 10 T
B . - 12 12 | 40 i
= T 3 N | . —
— MTC 20-6| 6 30 o
- : 1-8 180 5
! - (7]
A2 12 | #° =
IVkFIIA -16] 16 55 o
(For Endmill) 20| 20 E
(@]
Kb, 1)—<H (For Drill and Reamer) MRecommended tightening torque. ;
CODE FIG | d D L L1 H | Collet |Wrench| #&E#ft NLoE o
ST20-MTC 8-100 100 40 5 9
-150 17 | 20 [ 150 | 90 | 60 | MTC8 /if‘ﬁf; 6 ~ 8Nm T
-200 200 | 140
ST32-MTC 12-150 150 70
-200 200 | 120 8mm -
550 1 23 32 550 170 80 |MTC12 A 10 ~ 15Nm
-300 300 | 220
ST32-MTC 20-200 200 120
-250 250 | 170 14mm
300 40 | 32 300 | 220 80 |MTC20 A F 40 ~ 50Nm
-350 350 | 270
I NKZJVA (For Endmill) MRecommended tightening torque.
CODE FIG d D L L1 H D1 | Collet |Wrench| #E3E#Eft ML E
ST20-MTC 8E-100 100 57 5
-150 17 | 20 [150] 43 [107] 20 | MTC8 /ifg‘ 6 ~ 8Nm
-200 200 157
ST32-MTC 12E-150 150| 70 | 80
-200 200 71 8mm -
550 o 23 | 32 250 | 129 [121 32 MTC12 R 10 ~ 15Nm
-300 300 171
R 20E:§gg 40 > ggg 138 014 MTC20| T4MM | 40 ~ 50Nm
ST42-MTC 20E-300 42 300 | 200 100 54 VAV::|
-350 350 | 250 58

WEHY 1 ZEEUCKVEENZLET . Special size is available upon request.



(V)] MRC ALy bF+yoHI 4
: COLLET CHUCK HOLDER
*HAN. SEEILY hF¥ VT,

High precision collet chuck with durability.
ey Ry TREM.
Can be used for Synchro tap.
s BREEAS/NT VART 1,
Pre-balanced symmetrically for higher R.P.M.

¢ F A IVAR— IV LRI EE,
Coolant through body.

TIRC 1 [

i TEED

<
By
O
=
L
%
h
}
—\7
9
7
ViR
L
X

(@] N 3 ]
(|2 O ‘ :T Q
m —1 |
= ®/ ‘ H
O F
T
C
(@)
4 BT30
I
IC_> CODE FIG od L D G
(@] BT30-MRC10 - 75 75
g 700 0.5~ 10.0 100 28 M11 X P1.0
BT30-MRC13 - 75 75
100 1 1.0~ 13.0 100 35 M15 X P1.5
BT30-MRC16 - 75 75
100 1.0~ 16.0 100 42 M18 X P1.5
BT30-MRC20 - 75 75
100 2.0~ 20.0 100 50 M22 X P1.5
BT40
CODE FIG ¢d L D G
BT40-MRC10 - 75 75
-100 100
150 0.5~ 10.0 150 28 M11 X P1.0
-200 200
BT40-MRC13 - 75 75
-100 100
150 1.0~ 13.0 150 35 M15 x P1.5
-200 1 200
BT40-MRC16 - 75 75
-100 100
150 1.0~ 16.0 150 42 M18 X P1.5
-200 200
BT40-MRC20 - 75 75
-100 100
150 2.0~ 20.0 150 50 M22 X P1.5
-200 200

By MIRFBLTOWESTH. OLY ML YF NV I TV T 2 —IdR&EEXLZELN,
@3l hMRC10~MRC20 P35 Zv7aLwv N P37
Comes with collet nut, purchase collet, wrench and back-up screw separately.



MRC ALy b;FyyIKRIVE

COLLET CHUCK HOLDER

D

COMHINEL
BT50
CODE FIG od L D G C 0 H
BT50-MRC10 -150 150 =
-200 1 200 - - - 53]
-250 05~100 | 250 | 28 | M11 X P1.0 @)
-300 o 300 49.3 | |, | 200 -
-350 350 56.5 230 L
BT50-MRC13 -150 150 v
-200 ] 200 _ B B [
-250 1.0~130 | 250 | 35 | M15 X P1.5 F
-300 300 ¥
-350 2 350 56.1 | 10° | 250 b4
BT50-MRC16 -150 150 7
-200 200 N
250 | 1 | 1.0~160 | 250 | 42 | M18 x P15 | - - - %
-300 300 A
-350 350 o
BT50-MRC20 -100 100 O
-150 150 r
-200 200 =
0 1 20~200 |—5z5—| 50 | M22x P15 &)
-300 300 c
-350 350 g
By MIRBEBLTOWETA . OLY MLYF NI TPy TAT Y 12— 3R EXLEE, T
@Il NMRC10~MRC20 P35 Ky 7aLwv b~ P37 (@)
Comes with collet nut, purchase collet, wrench and back-up screw separately. 5
g
A 3
LF
LURENCH T MR ML
CODE L BEAYTZFY b CODE NUT Nm
Nut Size MRC10 | HIQ-ERB16 | 39
MRS-10 | E16P | 145 | MRC10 - Hi-Q - ERB16 MRC13 | HIQERB20 | 46
MRS-13 [ E20P | 170 | MRC13 - Hi-Q - ERB20 MRC16 | HIQERB25 | 78
MRS-16 | E26 | 210 |MRC16 - Hi-Q - ERB25 MRC20 | HIQERB32 | 115
MRS-20 | E32 | 250 | MRC20 - Hi-Q - ERB32
SIER/INY I T TRV 1—
BACK-UP SCREW FOR HIGH PRESSURE L .
H
CODE d D L H h |O-ring ]
HRMS11 | M11P=10] 8 | . 25| N4
HRMS15 | M15P=15 | 12 10 3| P6 © g o
HRMS18 | M18P=1.5 | 15 | .o 4 | P9 |
HRMS22 | M22P=1.5 | 19 5 | P12 Oring




ST-MRC AL —=brvy7aLybFyvy
@MANSL

STRAIGHT SHANK COLLET CHUCK

I =T F v 7. ALYy b Fry I TERLULTWEETET,
REHEORBH EBETE

L
CODE FIG ¢d D [oD1] L | HI | H2 G
ST12-MRC5 -150 , [ 02~50 [ 12 [ 12 | [ _ | M6xP10
ST16-MRC7 -150 02~70 | 16 | 16 M8 x P1.0
ST20-MRC10  -200 2 | 05~100 | 20 | 28 160 | 40 [M11xP1.0
ST32-MRC13  -200 1 [ 1.0~130 35 | 5o |- - |[M15x P15
ST32-MRC16 _ -200 5 | 1.0~160 | 32 [ 42 150 | 50 |[M18x P15
ST32-MRC20 __ -200 2.0 ~ 20.0 50 145 | 55 |M22 x P15

By hNIMBLTOWET A ALY M LF NI 7Y TATY 3 —ERETEXLEEON,
NERIOL Y NRMRC5.MRC7 P35 T@al v RMRC10~MRC20 P35 2y 7aLwv ~ P37
Comes with collet nut, purchase collet, wrench and back-up screw separately.

ST-MRC F AbL—bv¥27aLybFryy

STRAIGHT SHANK COLLET CHUCK

2]
.
=
Y]
)
A
b
L
I
ly
P
ey
~
7
-
L
v
b
9’.
v
v
7
2]
—
Y]
2
)
ac
—
9]
I
>
Z
A
Q
©)
—
—
m
—
)
I
Cc
)
A

. G
Eig. EEMIBAARNVSZ I
_I%_*EE I< U )Wlﬂls U —VbﬂI‘CHE;‘zﬁo a I i ﬂ L ]] l % 5 i
FIG] L |
G
~ I
o — —J] ﬂ | | &
—
FIG2 al f2
L
CODE FIG od D | oD1| L H1 | H2 ©
ST16F-MRC7 - 80 1 02~7.0 16 | 16 | 80 - - M8 x P1.0
ST20F-MRC10  -100 2 05~100 | 20 | 28 | . | 62 | 38 [Mi1xP10
ST32F-MRC13  -100 1 1.0~130 35 - - [Mi5xP15
ST32F-MRC16  -120 5 1.0~160 | 32 [ 42 [ 120 [ o [ 40 [MI8xP15
ST32F-MRC20  -130 2.0~ 20.0 50 | 130 50 |M22 X P15

By MIBLTOWESTA . OLY ML YF NV I TV TR 2 —ER& EXLZELN,
NEEIOLY NMRC7 P35 E®al v NMRC10~MRC20 P35 Ky 7alLwv b~ P37
Comes with collet nut, purchase collet, wrench and back-up screw separately.



®MENTL

TOOLING SYST

- WWw.manyo-100ls.co.p  waoe

#Z mm MRC5-MB MRC7-MB
0.2 MRC5-MB02 MRC7-MB02
0.3 MRC5-MB03 MRC7-MB03
0.4 MRC5-MB04 MRC7-MB04
0.5 MRC5-MB05 MRC7-MB05
0.6 MRC5-MB06 MRC7-MB06
0.7 MRC5-MBO7 MRC7-MBO7
0.8 MRC5-MBO8 MRC7-MB0O8
0.9 MRC5-MB09 MRC7-MB09

WOBRDHY > 7 TEIBHBEIFTEVWELA.
Only available in nominal diameter. There is no chucking range.

MRC5 MRC7
&mm LB FERER B3R FEFER
Standard collet Precision collet Standard collet Precision collet
05~1.0 MRC5-1 MRC5-U 1 MRC7-1 MRC7-U 1
1.0~15 MRC5-1.5 MRC5-U 1.5 MRC7-1.5 MRC7-U 1.5
1.5~20 MRC5-2 MRC5-U 2 MRC7-2 MRC7-U 2
20 ~25 MRC5-2.5 MRC5-U 2.5 MRC7-2.5 MRC7-U 2.5
2.5 ~ 3.0 MRC5-3 MRC5-U 3 MRC7-3 MRC7-U 3
3.0 ~ 3.5 MRC5-3.5 MRC5-U 3.5 MRC7-3.5 MRC7-U 3.5
3.5~ 40 MRC5-4 MRC5-U 4 MRC7-4 MRC7-U 4
40~ 45 MRC5-4.5 MRC5-U 4.5 MRC7-4.5 MRC7-U 4.5
45 ~5.0 MRC5-5 MRC5-U 5 MRC7-5 MRC7-U 5
50~55 = = MRC7-5.5 MRC7-U 5.5
55 ~6.0 = = MRC7-6 MRC7-U 6
6.0 ~ 6.5 = = MRC7-6.5 MRC7-U 6.5
6.5~ 7.0 = = MRC7-7 MRC7-U 7
SHED REL
_— MRC10 17 27.5
= a MRC13 21 31.5
— MRC16 26 34
| MRC20 33 40
dby NMEazZEELZAYy 7EBIOLY hH Y ET ., Also available collet for tapping.
MRC10 MRC13 MRC16 MRC20
DR EEE Chucking range D3R EEFE Chucking range D3R EEE Chucking range iR EEFE Chucking range
0.5~ 10.0mm 1.0 ~ 13.0mm 1.0 ~ 16.0mm 2.0 ~ 20.0mm
CODE %Zd CODE % d CODE % d CODE Zd
MRC10-1 0.5~ 1. MRC13-2 1. ~ 2. MRC16-2 1. ~ 2. MRC20-3 2. ~ 3.
MRC10-2 1. ~ 2. MRC13-3 2.~ 3. MRC16-3 2.~ 3. MRC20-4 3. ~ 4.
MRC10-3 2. ~ 3. MRC13-4 3. ~ 4. MRC16-4 3. ~ 4. MRC20-5 4. ~ 5.
MRC10-4 3.~ 4. MRC13-5 4. ~ 5, MRC16-5 4. ~ 5, MRC20-6 5 ~ 6.
MRC10-5 4. ~ 5, MRC13-6 5 ~ 6. MRC16-6 5 ~ 6. MRC20-7 6. ~7.
MRC10-6 5 ~ 6. MRC13-7 6.~ 7. MRC16-7 6. ~7. MRC20-8 7.~ 8.
MRC10-7 6. ~7. MRC13-8 7.~ 8. MRC16-8 7.~ 8. MRC20-9 8. ~ 9.
MRC10-8 7.~ 8. MRC13-9 8. ~ 9. MRC16-9 8. ~ 9. MRC20-10 9. ~ 10.
MRC10-9 8. ~ 9. MRC13-10 9.~ 10. | MRC16-10 9.~ 10 MRC20-11| 10. ~ 11.
MRC10-10 9.~10. | MRC13-11 10.~11. | MRC16-11 10. ~ 11. | MRC20-12| 11. ~ 12.
MRC13-12| 11.~12. | MRC16-12| 11. ~ 12. | MRC20-13| 12. ~ 13.
MRC13-13| 12. ~13. | MRC16-13| 12. ~ 13. | MRC20-14| 13. ~ 14,
MRC16-14| 13. ~ 14. | MRC20-15| 14. ~ 15.
MRC16-15| 14. ~ 15. | MRC20-16| 15. ~ 16.
MRC16-16| 15. ~ 16. | MRC20-17| 16. ~ 17.
MRC20-18| 17. ~ 18.
MRC20-19| 18. ~ 19.
MRC20-20| 19. ~ 20.

35



@ ST-MRT ARL—h w278y 7aALy M Fvv 4
@MAN+

STRAIGHT SHANK TAP COLLET CHUCK

NCiE. BamIBAXYEJRIVA
YT R—ICEERTTEE

(70— MEBICKVYIEE. SEOE Yy FRREZRIIRWVELET.)
(Accurate threads are made by the floating mechanism,
compensating pitch error of the machine spindle.)

(7p)

-

=

X0

_|

;If H

[I/ <)

) R — P

\_—— — 1|

T 1=

5

& H1 15 0

4

-

L

W CODE M D D1 L H1 H2

~ ST32-MRT10 -127 M3 ~ M12 28 127

F -MRT13 -128 M3 ~ M14 32 35 128

¥ ‘MRT20  -153 M3 ~ M27 50 153

7/ ST40-MRT10 -127 M3 ~ M12 28 127

-MRT13 -128 M3 ~ M14 40 35 128 92 60

g>| -MRT20 -153 M3 ~ M27 50 153

§ ST42-MRT10 -127 M3 ~ M12 28 127

) -MRT13 -128 M3 ~ M14 42 35 128

- -MRT20 -153 M3 ~ M27 50 153

g:) By MIBLTHEYETH. O Y ML UFIFFIE IS EE0N,

> 2y 7Ly N LYF P37

% Comes with collet nut, purchase collet & wrench separately.

>

T

3

3 tEE-AN—=9=FUbFVb

Q NUTS FOR COOLANT THROUGH

C

o (Fv hOZHE. =V T F 4 A TRER Y Z—AI—)

(Secure coolant through by using coolant nut and sealing disk.)

7+ bk (CODE) >—1 > 457« X% (CODE)
MRT10N-OH DS/ER16-(M3 ~ M10)
(HI-QERBC16) 2y TP A IR LEZL,
MRT13N-OH DS/ER20-(M3 ~ M14)
(HI-QERBC20) Ry THA TR FEZLN,
MRT20N-OH DS/ER32-(M3 ~ M27)
(HI-QERBC32) 2y THA ZIERLFEEL,

BT A XE ISRV BNV L ET,
Special size is available upon request.



(Y)] MRC &y 7aLvy i

STANDARD TAP COLLET

=1 hW&Eﬁ!?‘VéﬁEbké} T RBIISBENR YT
FAIOLYMNEBERYEVIIMIICRE.
Special designed collets for high accurate tapping with
special square bore in collet I.D. to avoid slip during tapping.

A
A
——
(ER11-GB)  (ER16-GB)  (ER20-GB)  (ER25-GB)  (ER32-GB)
Tap Size od | [JSW MRC7 MRC10 MRC13 MRC16 MRC20

M3 ~ M3.5 4 3.2 MRC7-M 3 MRC10-M 3 MRC13-M 3 MRC16-M 3 MRC20-M 3

M4 ~ M4.5 5 4 - MRC10-M 4 MRC13-M 4 MRC16-M 4 MRC20-M 4

M5 55 45 - MRCIOM5 | MRC13M5 | MRCi6M5 | MRC20-M5

M6 6 45 MRC7-M 6 MRC10-M 6 MRC13-M 6 MRC16-M 6 MRC20-M 6

M7 ~ M8 6.2 5 - MRC10-M 8 MRC13-M 8 MRC16-M 8 MRC20-M 8

M9~ MI10 7 55 MRC10-M10 MRC13-M10 MRC16-M10 MRC20-M10

M1 8 6 MRCTOMi1 | MRC13-M11 | MRC16Mi1 | MRC20-Mi{
PT1/8-28 8 6 MRC10-PT1/8 | MRC13-PT1/8 | MRC16-PT1/8 | MRC20-PT1/8

M12 8.5 6.5 MRC10-M12 MRC13-M12 MRC16-M12 MRC20-M12

M14 ~ M15 10.5 8 - MRC13-M14 MRC16-M14 MRC20-M14
PT1/4-19 11 9 MRC13-PT1/4 | MRC16-PT1/4 | MRC20-PT1/4

M16 125 10 - MRC16-M16 | MRC20-M16

M18 14 11 MRC16-M18 | MRC20-M18
PT3/8-19 14 11 MRC16-PT3/8 | MRC20-PT3/8

M20 15 12 MRC16-M20 MRC20-M20

M22 17 13 - MRC20-M22
PT1/2-14 18 14 MRC20-PT1/2

M26 ~ M27 20 15 MRC20-M27

¥ PTEPFv>7EL
oSsSG¥r/vn4sv7H (ER11-GB)  (ER16-GB)  (ER20-GB)  (ER25-GB)  (ER32-GB)
Tap Size od [ISW MRC7 MRC10 MRC13 MRC16 MRC20

M3 4 32 MRC7M3 | MRCTO0M3 | MRC13-M3 | MRCI6M3 | MRC20-M3

M4 ~ M6 6 45 MRC7-M 6 MRC10-M 6 MRC13-M 6 MRC16-M 6 MRC20-M 6

M8 ~ M10 8 6 - MRC10-M11 MRC13-M11 MRC16-M11 MRC20-M11
M12 10 8 - MRC13-M ¢ 10 | MRC16-M ¢ 10 | MRC20-M ¢ 10
M14 12 9 MRC13-M ¢ 12 | MRC16-M ¢ 12 | MRC20-M ¢ 12
M16 16 12 - - MRC20-M ¢ 16

B e 2 1]

A Mini v b

MINI NUT FOR HIGH SPEED

BWAHTBHHRILE
CODE Holder Size
ER-8MS MRC5
ER-11MS MRC7

NEALYMFYY IR LF

WWRENCH FOR SMALL SIZE COLLET CHUCK

=& Mini v NA WEIBHHRILE
CODE = Mini Nut Size Hnolder Size
ESM E8SMS MRC5
E11M E11MS MRC7

<
0
@)
2
A
7
|
L
v
k
®
>
Z
O
>
ny)
O
>
jy)
(@)
o
[
—
m
_|




@ TBT50-SFH & |EsHFhI 4 — ki

SOLID TYPE SHRINK HOLDER
BTEHEICE CERVELEITET,

Can be used for BT spindles also.

@MENRD

3 Features ‘
= i
* FH5zERUERERY Ltk ﬁﬁo);&hﬁg
Less interference with slim body. HighPrecision
* IREOIRNIBE 3 umLLT,

High precision. (less than 3um)

REZIMIRRESR T ENTICHEE,

Ideal for deep machining and precision finishing of die & mold.
CBEBNDPHNWTHYET 2 2—RAI =3

Coolant through body.

H | RIEEER E

H | REEER

ﬁt ]If‘“\' SRl — ]Ik““\' I
j e j L ————

Fig2

Fig1

_|
w
_|
gl
@
0
T
T
B
3
4
&
A
J
X
&
g!

TBT50 ( 2mm#R{L#E) Two face contact

8 CODE Fig d D | D1 L L1 H E
r TBT50-SFH 6-110 215 110 | 72
O -165 273 | 165 | 127
— 195 6 | 14 305 195 | 157 | 2
% 255 336 | 255 | 217
m TBT50-SFH 8-110 255 | 110 | 72
0 -165 313 | 165 | 127
T -195 8 18 [ 345|195 | 1567 | 25
By, -255 407 | 255 | 217
prd 295 443 | 295 | 257
A TBT50-SFH10-110 295 | 110 | 72
I -165 353 | 165 | 127
|C—) 195 10 | 22 [ 385 195 | 157 | 30
@) 255 | 447 | 255 | 217 )
m -295 489 | 295 | 257
BY TBT50-SFH12-110 315 110 | 72
-165 373 | 165 | 127
-195 405 | 195 | 157
-255 12 1 24 467 1255 [ 217 | 30
-295 509 | 295 | 257
-355 572 | 355 | 317
TBT50-SFH16-110 355 | 110 | 72
-165 413 | 165 | 127
-195 445 | 195 | 157
-255 16 | 28 557 1255 [ 217 | 3°
-295 549 | 295 | 257
-355 612 | 355 | 317
TBT50-SFH20-110 415 110 | 72
-165 473 | 165 | 127
- -195 505 | 195 | 157
/j 255 2 20 | 34 g7 255 | 217 | 0 | 100
Y -295 60.9 | 295 | 257
-355 67.2 | 355 | 317

BNES v ORAEIENCEBES v > 772 ZfEA <X 0. Use h6 carbide shank cutting tool.
WS Y  REEXCKUEMENZLET.,  Special size is available upon request.



@ ST-S ARL—Prv BERIZHFIS

STRAIGHT SHANK SHRINK FIT HOLDER

5 Features
SIBEHIEALY MFY v ID3ME

3 times higher clamping force compared to collet chuck
* B TFEDDELN,

Slim design for less interference

@MENED

* BNS Y AMREENT B, !
High balanced design for high speed machining C'D
+ IREDIRNBEIDEHE TIuMLLT, Z
Runout is less than 3um at 3D end. [
s RXOFEHSEHBTE. II/
b
N/
3 H BARY v
gripping length >
QI* —— Z
FIG.1 L ES
L )
H  BAEE R
gripping length )al/
Qr‘ I
- %)
< |s =
FIG2 L2 ‘ L >
L G
I
_|
(7p)
I
CODE FIG od ®D 32
ST10-S 3 -100 1 10 X
ST10-S 3 -150 w
ST16-S 3 -150 3 16 %
ST20-S 3 -100 =
ST20-S 3 -150 20 =
ST20-S 3 -200 80 M
ST16-S 4 -150 4 16 7 70 |
ST20-S 6 -150 2 6 12 T
ST20S 8 -150 8 20 4] 190 1 60 | 90 @
ST25-S10 -150 10 o5 16 ()
ST25-S10 -200 70 130 g
ST32-S12 -200 12 20 500 100 100
ST32-S16 -200 16 32 25 80 120
ST32-S20 -200 1 20 29 28.6 -

WS T 1 XKV EEN =LK Y. Special size is available upon request.



SLM /Oy I/ RINFIE

SIDE LOCK END MILL HOLDER

* 22 B—=ZA—F A R—ILRIS.

Coolant through body. Hl G
*BIEEZRUBEEMIIRT 1. e
High rigidity design body.
2 *X=UYI RULMIICRETT .
C Ideal for milling and drilling. — My
< - ‘ <l =
2 — I
4 of o |
R FiG1 L
H H, 6
b4 w
7
I
X
" LM#:J ]
71_\ FiG2 u
)] wo
a ‘ H3 H2
(7))
o [ [0
i I \ \’— ‘ ‘
l_ = a
o
X
g FiG3 u
O
=
= BT30
T CODE FIG ¢d L1 D H1 H2 G
Q BT30-SLM16 - 75 5 16 75 43 55 24 M1 4-
o SLM20 - 75 20 46 60 25 P1.5
Y]
BT40
CODE FIG[¢d|[ L1 [L2[ D | C | 6 |[HI|H2][H3 G
BT40-SLM6 - 75 75 353 | 15°
-100 100 314 | 5° _ M6-
450 | || ® [Tso | % % e 0| P1.0
-200 200 385
BT40-SLM8 - 75 75 39.7 | 15°
-100 100 369 | 5° Y
450 | 1| 8 [so | %% % [0 %0 P1.25
-200 200 44.2
BT40-SLM10 - 75 75 406 | 15°
-100 100 392 | 5° | Mm10-
450 | ' 10 Ts0 | %2 Tars | | 2 P1.5
-200 200 46.8
BT40-SLM12 - 75 75 430 | 15°
-100 100 426 | 5° _ | Mi12-
450 | 2| 1% [Ts0 | %) %0 [ ) %0220 P1.25
-200 200 45.6
BT40-SLM16 - 75 75 | - - -
-100 100 479 | b5° _ M1 4-
450 | 2| 10 [Tis0 | a5 | 40 [aza %0 # P15
-200 200 49.7

WEHY 1 ZEEUCKVEENZLET . Special size is available upon request.




CODE FIG| ¢d| L1 L2 D | C H1 ] H2 | H3 G
BT40-SLM20 - 75 75 | - - -
100 100 505 | 5° M14-
450 | 2 | %0 150 | 53 | 47 507 30 60 | 25 P1.5
2200 200 533
BT40-SLM25 -100 100 M16-
S50 3 | 25 ieg 55 70 | 24 | 24 | M18
BT40-SLM32 -100 100 M18-
Sto— 3 |82 g 62 75 |24 | 27 | M18
CODE FIG| ¢d| L1 |21 D | C o [ H1 | H2 | 13 G
BT50-SLM12 -105 105 | - -
150 150 478
2200 1 | 12 [ 200 42 548 | 4° | 50 |225| - M12-
70 P175
250 250 618
2300 300 68.8
BT50-SLM16 -105 105 | - - n
150 150 538
200 1 | 16 | 200 48 [608| ,. | 60| 24 | - M14-
70 4 P2.0
250 250 678
2300 300 748
BT50-SLM20 -105 105 | - n n
150 150 56.4
2200 200 616 M16-
250 | 2| % 250 | 70| %% [e68| 3 | 0| % P2.0
2300 300 721
-350 350 774
BT50-SLM25 -105 105 | - - -
150 150 67.9
-200 200 71.4 M18-
250 | 2 | %250 70 | % [7a9] 20 | 70|24 ]2 p25
-300 300 78.4
-350 350 78.4
BT50-SLM32 -105 105
150 150
200 200 M20-
50— 3 | 32 a5 72 75 | 24 | 28 | M0
2300 300
350 350
BT50-SLM40 -120 120
150 150
200 | 3 |40 200 - |90 | - - |85 |30 32 MO
250 250 '
2300 300
BT50-SLM42 -120 120
150 150 M20-
00— 3 | %2 00 20 85 | 30 | 32 | M0
250 250
BT50-SLM50 -125 | 3 | 50 | 125 | - |100]| - - | 95|30 |3 | Nt

BB A A6 KVEENELET, Special size is available upon request.

41



AO0—=777x41 R)IVBYA ROy 7RV A

@ SIDE LOCK HOLDER FOR THROW-AWAY DRILL

3% Features

4 t\/a_Z)b_j‘jrlﬁo
Coolant through body.

& RIS mEARE LR,

Ground face of holder.

¢ 2EMRAZREBZBEISVETOT. BHAVEDELSZEL,

Two face contact shank is also available.

RN O7AGHESC7ZAHIN—ON

BT30

2]
O
m
=
o
o]
X
I
o
O
O
m
pe
M
o
bY
_|
I
T
o}
2
>
S
=4
o
Y,
2
=

CODE FIG ) L 1 H 1 2 G
BT30-SLD16 - 60 ) 16 o 41 49
SLD20 - 60 20 45 51 14 14 | M10
SLD25 - 65 3 25 65 47 57
BT40
CODE FIG D L C1 H H H2 G
BT40.SLD16 - 60 60
-5 16 o 41 49
SLD20 - 60 60 14 14 | M10
— ) 20 o 45 51
SLD25 - 60 60
- o5 > 48 57
SLD32 _;gg a2 75 o o . 20 | Mi2
SLD40  -105 3 20 105 &g 71 25 | Mi4

WY 1 ZEEXCEVEENELET ., Special size is available upon request.



(V)] 2AB—=7711 KUY KOy IFINE

SIDE LOCK HOLDER FOR THROW-AWAY DRILL

BTSO

CODE FIG D L C1 H H1 H2 G
BT50-SLD16 - 40 1 40 - 18 - M12
105 105
135 6 135 49 A
-165 2 165 41 14 14 M10 O
-200 200 |
250 250 7
SLD20 - 40 1 40 - 18 - M12 )
105 105 I
135 135
165 2 20 165 45 51 14 14 M10 'I‘:
200 200 |
250 250 )
-SLD25 -40 1 40 - 20 - M16 )17
105 105 A
135 135
165 2 25 165 48 57 15 20 M12 3
200 200 K
250 250
SLD32___- 40 1 40 . 20 . M16 H
-105 105 J
135 30 135 61 4
165 2 165 61 15 20 M12 +
200 200 i
250 250 &
SLD40 - 50 i 50 14
105 105
135 135
s 40 60 68 71 M14
200 2 200 15 25
-250 250
SLD50 ___ -75 75
= 50 o5 83 81 M16

WY 1 ZHEICKVEENZLEY . Special size is available upon request.

SLA Y1 I~|:|‘/77J<)l«';‘!

SIDE LOCK HOLDER

Hi
H3_H2

o
\\,,

®
=)
m
—
(®]
Q
X
I
(]
—
)
m
T
m
o
o
_|
I
py)
o
T
>
=
=4
)
)
—
—

BT40

CODE ?d T D =F A2 T A3 N ©
BT40SLA12 - 90 12 a2 | 25~48 | ., 14 |_MI0
SLA16 - 90 16 28 | 30~ 48
SLA20 - 90 20 M10
T — 29 90 50 | 55~70 | 25 oo | M12
SLA32 - 90 32 60 | 65~80 | 30
SLAZ0 - 90 20 70 65 15 25 - M2
BT50
CODE o4 L D =f A2 [ 13 N G
BT50SLA12 -105 12 a2 | 25~48 | ., 14 M0
SLA16 105 16 48 | 30~ 48
SLA20 -105 20
SLA25 -105 55 | 105 | °0 | 55~70 | 25 V12 M10
SLA32 -105 32 60 | 65~80 20
SLA40 -105 40 30
SLA42 105 42 70 | 70~85

WEHY 1 ZEEUCKVEENZLET . Special size is available upon request.



@ WMH vy 3RS

WEDGE MILL HOLDER

EYRIINIICE. ALY bRATRI=V T F vy VDERTIL.

ERICEALBNDIBEOTE. IV RINDEABICHHES LTS,

V=R EBHTHEHERETH?

R — DI ZE 27X ) HMEHRERDRET.

REICIBAEITY PINFINETTY,

COSUTAY ) 1—EBBHBEF T IV RINOTS Y MBEY T Y IHBAICBE.
IVRINEBEICOY 7 LET.

Just tightening the clamp screw slightly, wedge can lock the flat part of end mill very tightly.

¢y DDRDEHT AT LIZBRADBIYE EKEE &R,

Guarantees maximum rigidity and accuracy.

» BEYFEICH L AN JRITEL,

No slipping and falling off of endmill against heavy duty cutting.

* D DN T —FE (B<HOHDET T REYBIADPIY FINEZBBHTHOMITET,

No hammer required for tightening and loosing the clamp screw.

Iy PRIVRINDOTZ Y MBEFHOHFIFIBEAEY A KOy IRV EOREETT.

Several times of higher clamping force compared to side lock type.

=SSN e HG HAM

=
i
w)
o)
m
=
=
=
I
o
o
o
m
By

®D

BT40

CODE od )
BT40-WMH10 - 60 10 36
12 - 60 12 o 42
16 - 60 16 48
20 - 60 20 55
25 - 90 25 90 63
32 -105 32 105 72
BT50

CODE od L )
BT50WMH12 - 75 12 42
16 - 75 16 75 48
20 - 75 20 55
55 -105 25 63
32 105 32 105 72

420 120 40
42 120 42 28 82

50  -135 50
508 -135 50.8 135 102

WEHEY  ZEEXCKVEMENZLET., Special size is available upon request.



@ CWM 1y 3I—ULsF vy BT50

WEDGE MILLING CHUCK

@MENRD

BTS0-CWMSQO

* BYHIICH LIRIFBY.EED DL,

No slipping, falling off of endmill and vibration against heavy duty cutting.
CI=UVTFvy IBEBICKUEHEETY,

High accuracy thanks to milling chuck mechanism.

¢TIV PINRNEEI =D TF vy IDORFAZHEE > FEFRFRILATY,
Patented holder with benefits of both Wedge Mill Holder and Milling Chuck.

125

0508
@100

SLD OV I RIIIEIVE BTS50

PIN LOCK HOLDER

@)
=
<
7
I
4
|
Y,
<
J
}
—\7
4
4
W
_I
0]
o
=
m
0
Q
m
=
—
C
Z
o)
o
I
c
S
X

3~

M20xP1.5 81.5

61.68
33.1

P95

0508

¢ AV RZ—Ya VYV IIY RINARILE 578|335
Holder for combination shank endmill. L

*RIBFIEE IS K GBEYEINFIEETT

Can be used for heavy duty cutting thanks to pin-lock type.

CODE L
BT50-SLD50.8 -120 120
150 150
-180 180

WEHEY  ZEEXCKVEMENZLET., Special size is available upon request.



@ MTA E—=ILAT—/N—FIL4 A B
MORSE TAPER HOLDER (TYPEA)

@MENED

EELBRTSESHONVIVINIICHIS.
E—IWAT—N—KRI)INVEREBELTIERSEZL,

=
>
:IIE
1%
A
=
Io
/\
|
RS
y|%
=4 L
5
; _
B NN
= H \ — 1 |
=z I / — J “y o
& 4\\V§
% | _/
m MT no.
By
I
o
e BT30
T CODE MT NO. L d D
= BT30-MTA1 - 60 1 60 12.065 25
35 MTA2 - 60 2 17.780 32
g MTA3 - 80 3 80 23.825 40
BT40
CODE MT NO. L d D
BT40-MTA1 - 45 45
-100 100
-120 1 120 12.065 25
-150 150
-200 200
BT40-MTA2 - 45 45
-60 60
-100 100
o 2 150 17.780 32
-150 150
-200 200
BT40-MTA3 - 75 75
-100 100
T 3 150 23.825 40
-200 200
BT40-MTA4 - 95 95
-100 100
o 4 150 31.267 50
-200 200

WEHEY  ZEEXCKVEMENZLET., Special size is available upon request.




@ MTA E—=ILAT—/N—FIL4 A B
MORSE TAPER HOLDER (TYPEA)

@MENED

BTSO

CODE MT NO. L d =
BT50-MTA1 T 45 =
120 120 >
-135 135 €
150 150 |
180 1 180 12.065 g
-200 200 A
-250 250 7|'
-300 300 5
2350 350 I
BT50-MTA2 T 45 o+
135 135 i
150 150 5
180 180
560 2 360 17.780 *_?2
250 250
-300 300 =
2350 350 S
BT50-MTA3 - 45 45 =
- 75 75 ﬂ
150 150 >
180 180 o
e 3 506 23.825 5
250 250 =
-300 300 -
-350 350 u
BT50-MTAZ - 75 75 2
150 150 =
-180 180 ~
200 4 200 31267 >
250 250
-300 300
350 350
BT50-MTA5 105 105
150 150
205 5 205 44.399
250 250
-300 300
BT50-MTA6 205 205
o0 6 500 63.348

WEHEY  ZEEXCKVEMENZLET., Special size is available upon request.



(V)] MTB E—NVAF—/N—#F 4 B &

MORSE TAPER HOLDER (TYPE B)
SELERTSEZHROD Y FUITHI.

Plenty types are available for various types of cutter.

BIERIORNE—NAT—/N—HRERELTIERSIEZLY,

G
BFFry TRV M

=
—
w
T
)
A
2
|
A
|
ox
g
X
B
B

MT No.

L

M20x2.5

(8 3dA L) H3ATOH H3dVL ISHOW

m} T - H | H 8 g
E* MM MINo, °l
BETIVAZY FRIVE (BlE) FIG3
BTS50
CODE MT NO. FIG L d D G

BT50-MTB2 - 45 45
- 90 2 90 17.780 32 M10 X 1.5
-120 120

BT50-MTB3 - 60 60
- 90 90
120 3 1 120 23.825 40 M12 X 1.75
-150 150

BT50-MTB4 - 75 75
- 90 90
120 4 120 31.267 50 M16 x 2
-150 150

BT50-MTB5 -108 -M16 5 2 108 44,399 65 M16 X 2

CODE MT NO. FIG L TIWAZY R L1

BT50-MTB5 - 60 60 P50T- I (II)-M20 - 65 65
- 90 90 I(D)-M20 - 95 95
-120 5 3 120 I(D)-M20 -125 125
-150 150 I(0)-M20 -155 155
-180 180 I(II)-M20 -185 185
-210 210 I (II)-M20 -215 215

WEHY 1 ZEEUCKVEENZLET . Special size is available upon request.



@ TBT-BT 2ERAZER7S 75—

CONUERSION ADAPTER FOR TWO FACE CONTACT SPINDLE
BT — 2HWR AL RIVAL,

BT— For two face contact spindle.

_I
0o
=
o
_l
2
&
#
%
A
z
i
7
Z
s
%
|
(@)
o
=z
<
m
)
(%2}
(@)
zZ
>
O
>
v
_|
m
o)
m
(@]
my)
_|
=
(@)
I
(@]
m
(@)
o
z
>
(@]
_|
wn
0
Z
o
—
m

.D. 77—/ .D.7—/N
CODE %[IZ)) ?’;per II%. ?'-aper L L1 w
TBT40-BT40-29 2 m#IER BT40 BT40 29 54 16
TBT50-BT50-40 2 E#ER BT50 BT50 40 80 25.4
BT40 ER7IWA& Y KKIL b BT50 ERH7IWA&ZY REKIVb
CODE L1 CODE L1
P40T-1 -54L P50T-1 -80L
P40T-2 -54L1L P50T-2 -80L 80
P40T-3 -54L 54 P50T-3 -80L
P40T-JIS -54L
P40T-MORI® 7-54L

WEHY 1 ZEEUCKVEENZLET . Special size is available upon request.



(V)] QCH 91y o F1o IhN S

QUICK CHANGE HOLDER

CRRA7ZARATIAYIF I IRIVEEFEND
MCHODIBEZ /A Y I F IV IMETHERAT %,
CRAR7 54 AICERLE.MCRICRUET.

Quick Change Holder can make the tool for
machining center use with manual milling machine. =

O.D.7—/¥| ID. 7—/N S

CODE O.D. Taper |.D. Taper 5lZx2 L D H
T40U-BT30-30 U5/8"-11
T40M-BT30-30 NT40 BT30 M16P=2 30 74 526
T50U-BT30-35 u1-8 35 576
T50M-BT30-35 NT50 M24P=3 )
T50U-BT40-40 ui-8
T50M-BT40-40 BT40 "Moap=3 | *° 92 67
T60M-BT50-65 T60M BT50 M30P=3.5 65 148 105

)
O
I
7
1
v
7
F
I
v
R
o
A
['9)
c
(@}
A
(@)
I
>
Z
(@)
m
I
(@]
I
@)
m
By

WEFHRT A XIS KD BENVZLET L FIFHB L THUEEAD T REERE LS X0,
Special size is available upon request. Purchase wrench separately.

+BT50BT40BT30DAENPEENET .

Easy to change tool shank.

I +BT50D#MTBTA40DHEEZBNTBHDITRILBET .

1D 7=\
H
0D.7—/% L
O
I
Q
O.D.7—N I.D. 7—N

CODE O.D. Taper |.D. Taper L D H
BT40-BT30-45 BT40 45 67.6
BT50-BT30-60 BT50 BT30 60 4 82.6
BT50-BT40-60 BT50 BT40 92 87
BT50-BT50-90 BT50 90 130
BT60-BT50-75 BT60 BT50 75 148 115

WEFSR T A XK BENVZLET L FIFHB L THUEBAD T REERE X0,
Special size is available upon request. Purchase wrench separately.



(V)] QCH 91y o F1 o IHN S

QUICK CHANGE HOLDER

EMANL

ABHHOERRY)&D{EHRIVE QCHE

For setup improvement of large size machine

R YBAN—FAILI=D 2 ITTRYFAY MIRE !
TEGEH L VF 1 AR CHEICHETR EFEEIEENVELET,

|deal for vertical milling attachment of horizontal boring machine.
Easy tool change by wrench.

* PIf S N T RO S SEBRINTICHNERENZLET !
SfEE CHERDINIHAEFR. TERBEHAFRRESBHEIZITAET.
Work well for various kinds of parts processing on double column five face milling machine.
High accuracy positioning and quick & easy tool change.

A

Large size machine

o Ry i
‘PBIYI =TG-

BRI R

Q
(@)
I
7
1
¥
7
?
T
<
D%
i
b
X
>
c
S
X
o
s
>
Z
o)
m
T
o
-
O
m
T

Machine Spindle
| \ QCH o
IL99FT I HINE
(BT50-BT50-90)
Quick change holder
| |
- /
i e 1
=S
Fa—bh m |
. ‘ | BT +2 7 /=I5
7 y 7/ b /\yF BT Tool Holder
Angle Attachment

LFIXTERSFIN K

L+ WRENCH
CODE FK-No. LENGTH HOLDER I.D
FS-130 70 ~ 75 250 -BT30-
FS-140 92 ~ 100 290 -BT40-
FS-150 140 ~ 150 385 -BT50-




@ STM B& 704y 7HINE BT 4%
HIGH SPEED SYNCHRO TAP HOLDER BT SHANK

¢ FIEDFEMDENG VORRET RV AR ZBH THEICL. ESICHRILEFTY bD
FemlC T —NZ[RFEFEMICL T V=0 F 5z EHRazRY < LTHLET,
Less interference and easy coolant supply thanks to slim body and tapered head design.

¢ FAIER=IF2 Yy THEREES AIN—FR—=ILOFRIVETY . X8I D S YHEZ R MR S5 Tl
FAINER—=IFE2y THEREEET.

Coolant through for oil hole tap.

@MENED

l\

wn

_|

=

_I%_

&

e

%

74

|

A

R

7

7~ v

L CODE L C D (ghucki@%nﬁg

A BT30-STM10 - 90 90 15 29 M2 ~ M10

3 STM16 - 90 21 35 M10 ~ M16

z BT40

N 2y TIRE

g CODE L C D (Chuckiﬁé*?f;ﬁg%
BT40-STM10 } gg }gg 15 29 M2 ~ M10

= BT40STM6 105 105

(@) - - ~

T -135 135 21 85 M10 ~ M16

Q BT40-STM24 -120 120 30 49 M16 ~ M24

m

g BT50

< R TRE

2 CODE L C D (Chuckiﬁ%ﬁg)

I BT50-STM10 -120 120

Z -150 150 15 29 M2 ~ M10

3 -180 180

= BT50-STM16 120 120

T -150 150 21 35 M10 ~ M16

o -180 180

= BT50-STM24 -135 135

By -150 150 30 49 M16 ~ M24

o -180 180

%) BT50-STM38 -150 150

; =80 180 40 70 M24 ~ M38

P

By MUYFIFEBLTOWETA. Oy MIREE IS X0, P53
Comes with collet nut & wrench, purchase collet separately.

STM &E 702y T7HRIVE A=y y

HIGH SPEED SYNCHRO TAP HOLDER STRAIGHT SHANK

032

sST32

Ry T1RH

CODE L H C D (Chucki@%aiggel)

ST32-STM10 180 54 15 29 M2 ~ M10
-STM16 61 21 35 M10 ~ M16

By M LFIMEBLTOWETH. Oy MEREEEXL 20\, P53
Comes with collet nut & wrench, purchase collet separately.



CODE g SW A1 H2 L
STM10-M2 3 25 " 21
M3 4 3.2 26
M4 5 4 29
M5 55 16 37
o . 45 2 32
“U5/16 6.1
M8 6.2 5 20 42
M10 7 55 47
CODE q SW A 2 L
STM16-M10 7 55 25 42
VIR 8 6 26 46
M2 85 65 48
U1/2 9 7 05 50
M4 105 8 52 42
“U5/8 12 9 - 56
M16 125 10 55
P1/8 8 6 " 30
P1/4 11 9 34
CODE g SW A H2 L
STM24-M16 125 o7
M7 13 10 26 55
M8 14 11 2 57
“M20 15 12 61
“M22 17 13 4 65 56
“M24 19 15 68
P3/8 14 11 20 31
P1/2 18 14 25 38
P5/8 19 15 34 39
CODE g SW A1 H2 L
STM38-M24 19 . 34 68
M27 20 -
U11/8 22 38
“M30 23 17 ”
M32 24
s 2 19 40 83
M35 26 5 70
"M38 28 21 45 86
P5/8 19 15 39
P3/4 23 17 - 40
P7/8 24 19 43
P 26 o 46
P11/8 28 38 51

BB A X6 K VEENELET ., Special size is available upon request.




BSA 7—=IVRTPR=DJ~\YR

BSA

BSA (fa/\1 bVARY)

* HNA PZERY T TERYTSTMIAR—) I~y K,
Roughing boring head with bite.

L1 E
CODE : ¢ L D1 L1 C W
Min Max
ST16-BSA50 - 60 50 65 60 16 55 40 13 3
ST20-BSA62 - 70 62 90 70 20 50 16 2
ST25-BSA72 - 85 72 110 85 25 65 60 19 24
ST32-BSA90 -105 90 125 105 32 70 75 4
ST42-BSA105 -120 105 160 120 42 80 90 o5 3
ST42-BSA130 -135 130 190 135 110 6

WaENT b WAL FIMHBELTEUEEA. B/ N P59 Not include bite and wrench.

L2

D1

FIG2

R=U2JINY R BT30 ALK FIG L1 L2 D1 D2
ST16-BSA50 - 60 BT30-SLM16 - 75 5 135 _ 43 _
ST20-BSA62 - 70 BT30-SLM20 - 75 145 46

WS 1 XKV EEN =LK Y. Special size is available upon request.



R—=U2JAy R BT40 ;RIL & FIG L1 L2 D1 D2
BT40-SLM16 -75 135 103 -
-100 160 479
ST16-BSA50 - 60 150 1 510 105 43 47 1
-200 260 49.7
BT40-SLM20 -75 145 113 -
-100 170 50.5
ST20-BSA62 - 70 150 1 550 123 47 507
-200 270 53.3
BT40-SLM25 -100 185
ST25-BSA72 - 85 150 2 535 - 55 -
BT40-SLM32 -100 205
ST32-BSA90 -105 150 2 555 62
BB XEFUTKVEERNELET ., Special size is available upon request.
R—=U2JdAy R BT50 ;RIL& FIG L1 L2 D1 D2
BT50-SLM16 -150 210 53.8
-200 260 60.8
ST16-BSA50 - 60 250 1 310 130 48 678
-300 360 74.8
BT50-SLM20 -150 220 56.4
-200 270 60.8
ST20-BSA62 - 70 250 1 350 140 52 678
-300 370 74.8
BT50-SLM25 -150 235 67.9
-200 285 714
ST25-BSA72 - 85 250 1 335 155 65 749
-300 385 78.4
BT50-SLM32 -150 255
-200 305
ST32-BSA90 -105 -250 2 355 - 72 -
-300 405
-350 455
BT50-SLM42 -150 270
ST42-BSA105 -120 -200 2 320 - 90 -
-250 370
BT50-SLM42 -150 285
ST42-BSA130 -135 -200 2 335 - 90 -
-250 385

BB 1 X6 K VEENELET ., Special size is available upon request.

55



BSB J—=IWVER7HR—=)27~ YR

BSB

BSB (/31 hxXXB®)

* HNA PZERY T TERYTSTMIAR—) I~y K,
Roughing boring head with bite.

L5
W
¥
1
gy T AN (K
Q %y YW \Ulihe
—
L1
CODE d L D1 L1 C w
Min Max
ST16-BSB50 - 50 50 90 16 o 40 13
ST20-BSB62 - 50 62 115 20 50 16
ST25BSB72 - 50 72 135 - 25 65 60 9
ST32-BSB90 - 50 90 150 32 70 75
ST42-BSB105 - 50 105 190 90
ST42-BSB130 - 50 130 260 42 80 110 25

WAaNT b BABLOFIMBLTEUEEA. B/ N P59 Not include bite and wrench.

el

I
=
™\

@ *‘

Y
[T
lll

FIG2

1) -

R=U2JINy R BT30 ALK FIG L1 L2 D1 D2
ST16-BSB50 - 50 BT30-SLM16 - 75 5 125 _ 43 _
ST20-BSB62 - 50 BT30-SLM20 - 75 46

WS 1 XKV EEN =LK Y. Special size is available upon request.



R—=U2JAy R BT40 ;RIL & FIG L1 L2 D1 D2
BT40-SLM16 - 75 125 93 -
-100 150 479
ST16-BSB50 - 50 150 1 500 95 43 47 1
-200 250 49.7
BT40-SLM20 - 75 125 93 -
-100 150 50.5
ST20-BSB62 - 50 150 1 500 103 47 50.7
-200 250 53.3
BT40-SLM25 -100 150
ST25-BSB72 - 50 150 2 500 - 55 -
BT40-SLM32 -100 150
ST32-BSB90 - 50 150 2 500 - 62 -
WY A AEEXICKYEENEZLET. Special size is available upon request.
R—=U>2JA\y R BT50 RIL& FIG L1 L2 D1 D2
BT50-SLM16 -150 200 53.8
-200 250 60.8
ST16-BSB50 - 50 250 1 300 120 48 67.8
-300 350 74.8
BT50-SLM20 -150 200 56.4
-200 250 60.8
ST20-BSB62 - 50 250 1 300 120 52 67.8
-300 350 74.8
BT50-SLM25 -150 200 67.9
-200 250 714
ST25-BSB72 - 50 550 1 300 120 65 749
-300 350 78.4
BT50-SLM32 -150 200
-200 250
ST32-BSB90 - 50 -250 2 300 - 72 -
-300 350
-350 400
BT50-SLM42 -150 200
ST42-BSB105 - 50 -200 2 250 - 90 -
-250 300
BT50-SLM42 -150 200
ST42-BSB130 - 50 -200 2 250 - 90 -
-250 300

BB XEFUCKVEMENEZLET ., Special size is available upon request.

57



@ BBL Z—ILETHR=D) Gy R
BBL (BORING HEAD)

MMHNL

BBL (X#&H)
f1/54 MR (BBL—R).

5
SSAm
=

|

oL
@90

160

W
oY)
-
1
I
R
7
R
|
1)
7
\
%
N
o9)
(03]
I

035
80 65
CODE CODE
ST42-BBL BBL-R
CODE (v k&) HEE
ST42-BBL-R ST42-BBL+BBL-R

maNT MNIRFBLTHEY £ A. Notinclude bite.




(V)] TBS 2O0—77 1A RA/ A b

THROW-ALWAY BORING CUTTERS

BSA BSB BSB
_l
w
w
A
f c f i
f &
-
— " T
— —
N VoomE :
% — A
I el I . )
45° A 90°L -

—
I
)
Q
T
>
S
CODE [FIG[OIh| L [ x> [L>F] #@&AFvT <
TBS 413 13 | 80 @
TBS 416 | , | 16120 MS4011A | TF15| CC [JJ09T3 (1] el
TBS 419 19 {140 z
T 55 T150] MS5011A | TF20 | CC LI 1204 [0 g
TSBS413 13 | 80 | MS2506A | TF9 [ TC ] 1102 ] c
TSBS416 | ,, | 16 [120 =
TSBS419 19 [140| MS4011A | TF15| TC (1 16T3 I o
TSBS425 25 [ 150 )

| 90°

CODE |FIG|1h| L | ®{%Y [LoF| BAFYS
TBS 913 13 | 80
{ . T6S 016 | . | 16120 MS4011A | TF15| CC 0] 09T3 [
TBS 919 19 [140
e 55 (150 MS5011A | TF20 | CC I 1204 (0]
= TSBS913 13 [ 80 | MS2506A | TF9 | TC ] 1102 1]
FiG2 TSBS916 | ,, | 16 [120
TSBS919 19 [140| MS4011A | TF15| TC U1 16T3 1)
@ TSBS925 25 | 150

| 90° L)

CODE FIG | [Jh| L wax |[LoF BWEFVT
TBS913L 13 | 80
TBS916L 1 16 (120 MS4011A | TF15| CC L] 09T3 ]
TBS919L 19 |140| MS5011A |TF20 | CC[I[11204 ]
A= FY TR X —H—DOF v T% ZERAL X,
Not include insert.




@ FERMITE

LOCKING FIHTURE

¢Y—=IERIVEDHABEY T« IR TIVAZ Yy BT B4 UICRE,
Ideal for tool setting to tool holder and installing & removing of pull bolt.

ofit-EEMDITEEREORVKED S 3 > TOR@HIIEE,
Good workability for both vertical and horizontal use.

¢ a2\ M TTEERY) BEE D FEHE D vl EE.
Compact and shortening of set up time.

Y —IIVEBR DIEBFIED A T —/MEREBICII 7 IL I B2 ZEH.
Aluminum alloy is used for taper contact portion to prevent scratching
on tool holder.

%K Features r
A

b3)
8
B
1
\¥
=
-
o)
Q
A
p
o)
m
<
_|
c
3
m

| 'W
= -
Iy -
s — )
7—/\Wo.
i mma| N
7—/YNo.
L CODE e No, L W|H | HlT|LT|L2| D|C | M
4 NS LF-BT30 | BT30
f 7 T LE-BT40 | BT40 200(100|140|112| 80 | 20 | 60 | 20 |12.3
= \C‘ o Q LF-BT50 | BT50 |245|125|174/150|100| 24 | 90 |17.5/16.3
LF-TBT30 | 2 mi#gzR
&( Eﬁ D1 LF-TBT40 | 2 @i 200(100|140|112| 80 | 20 | 60 | 20 |12.3
/; LF-TBT50 | 2 m#gsR 245125174150 /100 24 | 90 |17.5/16.3

ROER MFEE . ERFICEERICEED L. ZHERL 72X,

TS TAMN—

TEST BAR

& Accuracy
1.7—=N"\=2% 271239 % 9 50+:0.0058D#x1L-0.002LUA
Run-out (Taper and ¢ 50%0.005) : within 0.002mm

2.950x0.0055BNDEMEO0.002L A. MFEE0.002LIA
Circularity and cylindricality(¢ 50x0.005) : within 0.002mm

SB.LTEF =514 057 A MNN—imHEE T)+0.05
L==x0.05mm

CODE L
ﬁ BT40-TS50-200 200
\Lu< BT50-TS50-300 300

B30




@ (S12-R5X150) 4 FA by 7 EsEEEs
TOUCH STOP @ IEINE

OTIW G AT F AR E KHiIE D 3R T EWR L AIER
Simple, easy to use, no maintenance and low cost 3D positioning measuring tool.
*MIV—7DiEmEICAEF 2 T HRISAEZITO>EY—TT.

Just make the probe contact to the end of workpiece.
* ¥R UM ERIERE SuLli,

Positioning repeatability is less than 0.003mm.
o MR RO ERUEBAXYZ 3FHFELSOAEHNEEICTAET.

3-axis measuring for both vertical and horizontal machine.

gﬁﬁ[ﬁd);ﬁy)ﬁ How to measure

1.E8zRES ¥ ($S200EE) AIEF 27— DinEIcw> < W H
TEITEAEFHIEFYET,
Turn the spindle (around S200) and make the probe contact to the end of
workpiece slowly until the probe stops.

2. FDUEDSHEFOER1/2(10+-2=5mm) Z#IE L/=FiDE
EMBEICRVET.,
Based position is point which corrected the diameter of
probe x 1/2 (10+2 = 5mm) from the stopped position.

.Z#MICH L THEXHMZEEZ B AEFHIE /D SRV HLET,

Same measuring method for Z-axis.
XY #AER 7 BHER

@
N
§y)
)
X
O
(@)
2
Y
9:
A
N
7
5
=
2
v
=

]

dOl1S HONOL 3EA]

150 /E\ /E\ p: |
ﬁ HE dE
glsre ]l g 51 %?
~ 1!

nro—2




(V)] ZVAR&YF (aLst )

PULL STUD

&K Features

+ SNCM420##{1#%
SNCM420 (Nickel chromium molybdenum steel)

*ERERXM TOSKDHAFRORBITVWETOT. BHGELLEEL.

SKD (Alloy tool steel) is also available.

-
y|
A
X
\y’ L
I\ )
= g §38 f
I >
(/)]
— | o1y N
C
O
=_/xNo.
?apérﬁg. CODE 6 | D |dl | ¢ | L |d|d2| G| B | @
P30T-1 45 | MAS-1
BT30 |P30T-2 60 43 | 165|125, M12 [MAS2
P30T-JIS NH 75 | 12 | 8 | 234 JIS  |IREE
P35T-1 45 MAS-1
BT35 |20 50| 13 |85 | 28 | 48| 20 |125 M12 3o
P40T-1 45 MAS-1
P40T-2 60 | 15 | 10 | 35 | 60 MAS-2
P40T-3 90 23 X~
P40T-JIS NH 75 | 19 | 14 | 29 | 54 JIS  |REHE
5740 | PAOT-MITSUI 90 | 15 | 10 | 25 | 50 07 | e IR
P40T-MAZAK NH 45 | 18.8 [12.4519.11|44.1| 22 Y 4 R
P40T-MORI NH 75 | 19 | 14 | 29 | 54 DNIG 276 S AT
P40T-MAZAK (IHED) 90 | 5 | 10 | 296|546 ,, D,
P40T-TSUGAMI 60° 60 11 | 35 | 60 .
P40T-TSUGAMI 75° 75 | 19 | 14 | 26 | 54 =
P45T-1 45 MAS-1
BT45 | P45T-2 60 | 19 | 14 | 40 | 70 | 31 | 21 |M20|MAS2
P45T-3 90 X~
P50T-1 45 MAS-1
P50T-2 60 MAS-2
P50T-3 90 X— A~k
P50T-1G 45 | 28 | 17| 45 1 85| 44 MAS-1 [IREHE
P50T-2G 60 MAS-2 [BRERREE
P50T-3G 90 X— S| ST
BT8O M 550T-uIS NH 75 | 28 | 21 | 34 | 74 25 \M24 7S i mae
P50T-MITSUI 9 | 24 | 18 | 31 | 71 | 36 =S
P50T-MAZAK NH 45 | 28962083252 652 37 Y 4 SRR
P50T-45° =027 23 | 17 | 70 | | 49
P50T-60° #—~~0O>% | 60 | 22 | 16 | 72
P50T-R4 BT Y R4 | 23 | 18 | 64 | 104 | 39

WER RO ML BBDIRRAR T MNLI LY FETENET,



(V)] BT30 - BT40 B7NAEY K (£ 8- —517)

PULL STUD FOR BT30 & BT40 (COOLANT THROUGH)

&K Features

+ SNCM420##{t#%
SNCM420 (Nickel chromium molybdenum steel)

*ERERXM TOSKDHAFRORBITVWETOT. BHGELLEEL.

SKD (Alloy tool steel) is also available.

3 3
= S

m
_|
W
o
@
N
o
i}
7
I
A
X
b
K
T
(=
-
I
%)
_|
C
o]
M
(@)
By
vy
_|
w
o
Q
vy
N
o

FIG 3
3 3
S S
>—/5No.
7 per'\,ig_ CODE 6 |D|dl| ¢ |L|d|d2|d3|d4| G | #¥E |FIG| &=
P30T-1 025 45 ; MAS-1
P30T-2 025 60 25 MAS2 | |
aT30 |P30T-2B 11175 ] o | 43 165125 w10 (MAS-215 75—
P30T-1F 45 8 4 MAS 4 77FvY
P30T-1M 75 25|65 2 |DMG#KH
P3OT-JIS ¢4 75 12| 8 4 JS | 1
P40T-1 04 4 1
P40T-1 HOWA¢3 | 45 3 | 70 MAS-1 | 2 |#-4v&f
P40T-1 JTEKT 3 ' 3 [V11474h
P40T-2 04 15| 10 | 35 | 60 | 23 4 1
P40T-2 HOWA93 | 60 s | =6 MAS-2 | 2 |#-4v2f
P40T-2 JTEKT 3 ' 3 [V1174h
P40T-3 04 90 4 A=h—Hl
BT40 I parus o7 17— M16 1
PAOT-JIS  OKUMA@4 4 150 T vk
PAOT-JIS  YASUDAG7| 75 | 19 | 14 | 29 | 54 | 7 1100 ZHTE
P40T-JIS  ¢5 5 BIET
PAOT-MORI 7 7 100 HEE | 2 [DNGHRE
PAOT-MITSUI ¢4 90 | 15[ 10 | 25 | 50 4 y-h-il| || SHiEH
P40T-MAZAK ¢7 45 [18.8[12.45[19.11[44.1] 22 7 TIYERYYY

HFIG 1, SI3mEMERTY .
BER W FIHEEORR. ML BEDIRRR T MNLI LY FETENET,



(V)] BT50 BFNAS YK (£>8-2N—517)
PULL STUD FOR BT5@ (COOLANT THROUGH)

&K Features

+ SNCM420##{t#%
SNCM420 (Nickel chromium molybdenum steel)

*ERERXM TOSKDHAFRORBITVWETOT. BHGELLEEL.

SKD (Alloy tool steel) is also available.

3 3
= S

w
—
a
o
i
5
%
A
2
<

N
T
c
-
[
n
—
c
O
m
o
By
w
—
o
o

FIG 3
3 3
S S
=—J3No.
TTaperNNg_ CODE 0| D |dl| ¢ | L|dl|d2|d3|ds| a| & FIG| fzz
P50T-1 06 1
P50T-1 OKUMA 06 6 | 70 T—5%
P50T-1 JTEKT 06 104 3 Y1479+
P50T-1 MORI98 8 110 DNG 276
P50T-1 HOWA ¢ 6 45 6 |95 MAS1 1 2 48R
P50T-1 TOSHIBAG45 45 B
P50T-1 YASUDA955 55 (112 2 |%E. OM
P50T-1 OKK 96 1 | KRBT
P50T-2 06
P50T-2 068P21 6 1
P50T-2 OKUMA 06 23 | 17 | 45 | 85 70 T-5%
P50T-2 JTEKT 06 % 104 3 Y1477+
P50T-2 MORI98 | 60 8 110 MAS2 |, [DiGHH
BT50 |P50T-2 HOWA 06 25 | 6 | 95 |M24 F—IvE
P50T-2 TOSHIBAG45 45 1 | RS
P50T-2 YASUDAG55 55 (112 2 |%m. OM
P50T-2 OKK 96 1 | KRBT
P50T-3 06 6 1
P50T-3 068P21
P50T3  MORI98 | g 10 TV ovesEa
P50T-3 OKK 06 6 *1 | KRBT
P50T-JS 910 10 1
P50T-JS 06 75| 28 | 21 | 34 | 74 6 Jis
P50T-JIS  YASUDA955 55 (112 2 |Z@. OM
P50T-MITSUl 08 90 | 24 | 18 | 31| 71 | 36 8 e
P50T-MAZAK 10 X—h—lh -
SEOTMAZAK o 102 45 |2896(20.83|25.2|652| 37 10 55 LALAALE

BFIG 1, SIdmEMERTY .

W1 wmEA— > I

HO1 WHEICESYBYPHVETH. F—) X TIIMHFOTBY EEA,
BER U FIFEEDRR. ML BBDTRAR T MNLI LY FEIENET.



(V) ZvLoF

PULL WRENCH

&K Features
* 7RI NOBREDEE THRREICITAET.

Easy installing and removing of pull bolt.

o TR S OBHFFIRA UICL Y F HB B EHE BRICBIBRIETT.

Secure installing and removing of pull bolt without slipping of wrench.

CLUFHDPOFERMLTEESE A,

Pull Wrench stays there by itself.

¢ BALIBIC KV FIRAER LIS L,

Less deformation thanks to heat treatment.

70
)|
L
v
9’.
3
C
-
[
=
i
m
z
o)
I

CODE L H W it &
P30T -WNH 120 16.5 13 MAS P30T- T &, II&, 90" &
P40T -WNH 160 26 19 MAS P40T- T &, &, 90°#
P50T -WNH 190 33 30 MAS P50T- T &, I&, 90°#
JIS40-WNH 160 26 19 JIS#40
JIS50-WNH 190 33 30 JIS#50
40 -WNH-MAZAK 160 26 19.05 BT40-MAZAK
50 -WNH-MAZAK 190 33 30 BT50-MAZAK
P40T -WNH-MITSUI 160 26 19 BT40- =H#51%
P50T -WNH-MITSUI 190 33 30 BT50- =54

WEHY 1 ZEIUCKWEIENZLET. Special size is available upon request.

Pp BEEREE!!




(V)] ZvboLe 7

PULL TORQUE WRENCH

3% Features
* 7RI b OFEF MV EFRREHCK BN Y NTHEE-#EEIC

MLYERRAELTIRIFET. PAZSE AN N2
Easy and secure tightening torque control of pull bolt. (Tightening torque)

* BREERETIVRIL MR TILRIL SARHRL > FE vy NV EE
RIEABHLET. BT30 20~25N-m
Can be used for various types of pull bolt and BT40 60~80N-m
special wrench is available upon request. BT50 200 ~250 N -m

MLILF
Torque Wrench . .
MAZAFRILS (Rl&)
Hook (option)

TNy N
Exchangeable head

TRV IR 4L URER Bar

Extension bar for
installing and
removing pull bolt

70
)|
I\
Y
7
L
~
?
Y
C
=
—
e
Y
D
C
m
=
oy}
m
Z
o
T

THANY R
Exchangeable head

[E

Ty R
Exchangeable head
CODE ®BE ML LTF L H W fia &
P30T -WNH-T N50 LCK 62 16.5 13 MAS P30T- T8, M&, 90° &
P40T -WNH-T N100 LCK 73.5 26 19 MAS P40T- T8, I3, 90° &
P50T -WNH-T N280 LCK 115 33 30 MAS P50T- T8, &, 90° &
JIS40-WNH-T N100 LCK 73.5 26 19 JIS#40, ISO#40
JIS50-WNH-T N280 LCK 115 33 30 JIS#50, ISO#50
40 -WNH-MAZ-T N100 LCK 73.5 26 19.05 BT40-MAZAK
50 -WNH-MAZ-T N280 LCK 115 33 30 BT50-MAZAK
40 -WNH-MIT -T N100 LCK 73.5 26 19 BT40- =H 5%
50 -WNH-MIT -T N280 LCK 115 33 30 BT50- =FH 5%
MNLOLOF 7RIV S UREER Bar

Torque wrench

Extension bar for installing and removing pull bolt

= 1
Mo
[

CODE BWERMAY K | FEgE (N.m) CODE BERBNY K L
N50 LCK P30T 10 ~ 50 P30T-BAR P30T 200
N100 LCK  |P40T.JIS40.MAZ| 20 ~ 100 P40T-BAR | P40T,JIS40.MAZ 250
N280 LCK  |P50T.JIS50.MAZ| 40 ~ 280 P50T-BAR | P50T,JIS50,MAZ 350




@ EEY Y 2 —

CHAMFERING CUTTER

@MENRD

3 Features
CHEHBRVYINI.VEMIFE1EADDY Z—THRABMIT— /IR LUET.

For chamfering and V-groove machining.

o= T2 — CNClelE . EEMIH THERLCERYMINITA

RS UICEBELET, -
High efficiency chamfering on machining center, Hy
CNC lathe and multi-tasking machine. U

+1S01 VY — hF v F{ERAHE, 5
Accepts ISO insert. CODE FIG Fv 7 W

ST12-CH6-27-90L 1 X
ST16-CH6-27-150L 2 TPMT160304 |
ST20-CH6-27-150L 3 o
I
>
<
m
m
By
8
e Fu7 TPMTI60304 -
v E

S ~N
T : E
N Il | Byl

S I =
7\50
30 60
90
FE) FuT  IPMTI60304
S
ASY

(92))
(@6
+
i

40 110
150

FuT  TPMTI60304

o
@

3

(92))
(96
|
i
20 he

40 110
150




68

ISO1 > — MERITTEE
Accepts ISO insert.

Hhy4s—EP7.8 ~ 56.8

Cutter diameter : 7.8 ~ 56.8mm
AYJY A X617 vT
Variety of cutter length
T EFARDY &2—

For rough finishing

CODE | L] CODE | L | CODE |L| CODE [L|D IR dILI] Fv7 WK
TB08-516-120 78 12
TB09-516-120 88 14
TB10-516-120|  [TB10-516-160 9.8 o
TB11-516-120|  [TB11-516-160 10.8] 48 1
TB12-516-120]  [TB12-516-160]  [TB12-516-200 11.8
TB13-516-120|  [TB13-516-160]  [TB13-516-200 12.8
TB14-516-120|  [TB14.516-160]  [TB14-516-200 13.8 CC..060204
TB15-516-120] 120 [TB15-516-160]  |TB15-516-200 148] 50 | 16 —
TB16-S16-120|  |TB16-516-160|  |TB16-516-200 15.8] 6.0 B2
TB17-516-120|  [TB17-516-160]  |TB17-516-200 16.8] 7.0 LA
TB18-S16-120|  [TB18-516-160]  |TB18-516-200 17.8] 8.0 TF9
TB19-516-120|  [TB19-S16-160| ., [TB19-516-200 18.8] 9.0 )
TB20-516-120]  [TB20-516-160| '° [TB20-516-200] o5 19.8[10.0 20
TB21-516-120|  [TB21-516-160]  |TB21-516-200 208(11.0
TB22-516-120]  [TB22-516-160]  |[TB22-516-200 218120
TB23-520-130]  |TB23-520-160|  |TB23-520-200 228(13.0
TB24-520-130|  [TB24-520-160|  |TB24-520-200|  |TB24-520-250 238(14.0
TB25-520-130]  [TB25-520-160]  |[TB25-520-200|  |TB25-520-250 24.8(15.0
TB26-520-130| 130 [TB26-520-160|  [TB26-520-200]  |TB26-520-250| 250 [25.8/10.0] 20
TB27-520-130]  |[TB27-520-160|  [TB27-520-200|  [TB27-520-250 268(11.0
TB28-520-130|  [TB28-520-160|  |TB28-:520-200|  |TB28-520-250 2781120
TB29-520-130]  [TB29-520-160|  |TB29-520-200 288(13.0
TB30-525-160]  |1B30-525-200|  [TB30-525-250 298(14.0
TB31-525-160|  |[TB31-525-200|  [TB31-525-250 30.8]15.0
TB32-525-160|  [TB32-525-200]  [TB32-525-250 31.8[16.0
TB33-525-160|  |TB33-525-200|  [TB33-525-250 328(17.0
TB34-525-160|  |TB34-525-200|  [TB34-525-250 338(18.0
TB35-525-160] 160 [TB35-525-200] 200 [TB35-525-250| 250 34.8(19.0] 25 | 40
TB36-525-160|  |TB36-525-200|  |TB36-525-250 35.8(20.0 )
TB37-525-160|  |TB37-525-200|  [TB37-525-250 36.8(21.0
TB38-525-160|  |TB38-525-200|  [TB38-525-250 37.8(22.0
TB39-525-160|  |[TB39-525-200|  |TB39-525-250 38.8(23.0 CC..09T304
TB40-525-160|  |[TB40-525-200|  |TB40-525-250 39.8124.0 VSA011A
TB41-532-200]  |TB41-532-250|  [TB41-532-300 40.8(25.0 )
TB42-S32-200|  [TB42-532-250|  [TB42-532-300 41.8(26.0 Ui
TB43-532-200|  |TB43-532-250|  [TB43-532-300 428(270 15
TB44-S32-200|  [TB44-S32-250|  |TB44-532-300 43.8(28.0 (LY
TB45.532-200|  |[TB45-532-250|  [TB45-532-300 44.8129.0
TB46-532-200|  |TB46-S32-250|  |[TB46-532-300 45.8(30.0
TB47-S32-200|  [TB47-S32-250|  |TB47-532-300 46.8(31.0
TB48-S32-200|  |TB48-S32-250|  [TB48-532-300 478320
TB49-532-200] 200 [TB49-532-250] 250 [TB49-532-300] 300 488(330| 32 | 45
TB50-532-200|  |TB50-S32-250|  |[TB50-532-300 49.8(34.0
TB51-532-200|  |TB51-532-250|  [TB51-532-300 50.8/35.0
TB52-532-200|  |TB52-532-250|  [TB52-532-300 51.8/36.0
TB53-532-200|  |TB53-532-250|  [TB53-532-300 528(37.0
TB54-532-200|  |TB54-S32-250|  [TB54-532-300 53.8/38.0
TB55-532-200|  |TB55-532-250|  [TB55-532-300 54.8(39.0
TB56-532-200|  |TB56-532-250|  |[TB56-S32-300 55.8(40.0
TB57-532-200|  |TB57-532-250|  [TB57-532-300 56.8(41.0

FyTEHBLTHE Y EEA. Notinclude insert.




ISO1 > — MERITTEE
Accepts ISO insert.

Hy4&—&Ep8.0 ~57.0

Cutter diameter : 8.0 ~ 57.0mm

a>vyJY4XEM4 07y

Variety of cutter length. L7

(ZIEF v v 7RIV MY A XCEB=RERRET

Lineup for size of cap bolt. -

5] B d <
L /)

CODE | L | CODE | L] CODE |L| CODE |L|DIWdILI] Fv7 WK
TBOBE-S16-120 80 12
TBO9E-S16-120 9.0 14
TB10E-S16-120]  |[TBTOE-S16-160 10.0 o6
TB11ES16-120]  [TBT1E-S16-160 110] 48 1
TB12ES16-120]  [TB12E-S16-160|  [TB12E-S16-200 12.0
TB13ES16-120]  |[TBI3E-S16-160]  [TB13E-516-200 13.0
TB14ES16-120|  [TB14E-S16-160|  [TB14E-S16-200 14.0 CC..060204
TB15E-516-120 120 [TB15E-S16-160]  [TB15E-S16-200 150 50 | 16 MS2506A
TB16E-S16-120|  |TB16E-S16-160]  [TB16E-S16-200 16.0] 6.0 (B2
TB17ES16-120]  [TBI7E-S16-160|  [TB17E-S16-200 170 7.0 Lt
TB18ES16-120|  |TBIBE-S16-160|  [TB18E-S16-200 180/ 8.0 TF9
TBI9ES1E-120]  [TBI9ESTE-160)] ;o [TBIGE-STE-200 19.0] 9.0 (LYF)
TB2ES16-120| | TB20EST6-160] '~ [TB20E-816-200] o5 20.0/10.0 20
TB21ES16-120|  [TB21E-S16-160|  [TB21E-S16-200 210/11.0
TB22ES16-120]  [TB22E-S16-160|  [TB22E-S16-200 220112.0
TB23E-S20-130]  |TB23E-S20-160|  [TB23E-520-200 230/13.0
TB24E-S20-130]  |[TB24E-S20-160|  [TB24E-S20-200|  [TB24E-520-250 2401140
TB25E-520-130]  |[TB25E-S20-160|  |TB25E-S20-200|  [TB25E-520-250 250[15.0
TB26E-S20-130] 130 [TB26E-S20-160|  [TB26E-S20-200]  [TB26E-S20-250| 250 [26.010.0] 20
TB27E-S20-130]  |TB27E-S20-160|  [TB27E-S20-200]  [TB27E-520-250 270/11.0
TB28E-S20-130]  |TB2BE-S20-160|  [TB28E-S20-200]  [TB28E-S20-250 280[120
TB29E-S20-130]  [TB29E-S20-160|  [TB29E-520-200 29.0[130
TB30E-S25-160]  |TB30E-$25-200]  |TB30E-525-250 30.0(14.0
TB31E-S25-160|  |TB31E-S25200|  [TB31E-$25-250 31.0[150
TB32E-S25-160|  [TB32E-S25200]  [TB32E-525-250 32.0[16.0
TB33E-S25-160|  |TB33E-S25200]  [TB33E-$25-250 330/17.0
TB34E-S25-160|  |TB34E-S25200|  [TB34E-$25-250 340[180
TB35E-525-160] 160 |TB35E-525-200] 200 [TB35E-525-250] 250 350[19.0] 25 | 40
TB36E-S25-160|  |TB3GE-S25200]  |TB36E-525-250 36.0/20.0 )
TB37E-S25-160|  |TB37E-S25200]  [TB37E-$25-250 37.0/21.0
TB3BE-S25-160|  |TB3BE-S25-200|  |TB3BE-S25-250 380220
TB3OE-S25-160|  |TB39E-S25-200]  [TB39E-S25-250 39.0(23.0 CC.09T304
TB40E-S25-160|  |TB4OE-S25-200]  |TB4OE-525-250 40.0]24.0 VISA011A
TB41E-S32:200]  |TB41E-S32-250|  |TB41E-S32-300 41.0/250 B2
TB42E-S32200)  [TB42E-S32-250|  [TB42E-S32-300 42.0(260 L
TB43E-S32-200)  |TB43E-S32-250|  [TB4BE-S32-300 430127.0 115
TB44E-S32-200|  |TB44E-S32-250|  [TB44E-S32-300 440280 )
TB45E-532200)  [TB45E-S32-250|  [TBA5E-S32-300 450[29.0
TB46E-S32-200)  |TB46E-S32-250|  [TB4GE-S32-300 46.0/30.0
TB4TE-S32200)  |TB47E-S32-250|  [TBA7E-S32-300 47.0[31.0
TB48E-S32-200|  |TB48E-S32-250|  [TB4SE-S32-300 480[320
TB49E-532-200| 200 |TB49E-532-250| 250 [TB49E-532-300] 300 49.0[330] 32 | 45
TB50E-532-200|  |TB50E-S32-250|  |TBBOE-$32-300 50.0(34.0
TB51E-532-200]  [TB51E-S32-250|  [TB51E-S32-300 51,0350
TB52E-532200)  [TB52E-S32-250|  [TB52E-S32-300 520(36.0
TB53E-532-200)  |TB53E-S32-250|  [TB53E-532-300 53.0137.0
TB54E-532-200)  |TB54E-S32-250|  [TB54E-S32-300 54.0(38.0
TB55E-532-200|  |TB55E-S32-250|  |TBS5E-S32-300 55.0/39.0
TB56E-S32-200)  |TB56E-S32-250|  [TB5GE-S32-300 56.0140.0
TB57E-532-2000  [TB57E-S32-250|  [TB57E-S32-300 57.0/41.0

FyTEHBLTHE Y EEA. Notinclude insert.

69



i
R
i
2
)

.
7
wn
—
m
m
<
m
M
(@)
Y]
.
>
I
m

IEsEARY—7
SLEEVE FOR LATHE
&K Features
* IERTORRE-R—) > JIMIHA

For boring on lathe.

CEBERYAM XA TYVT
Variety of sizes.

* (ZIZL T OIEE X —H—IZHHS.

Can be used on lathe of almost all
manufacturers.

AG 1 )

/q
-

N =
D] M
HG2 L
L7
d
m Ay = \
w YIn___ [
D] H
HG3 |
J—o My H ‘ L1
Coolant hole
£2 oo
MY
FiG4

CODE d D L |L1T|D1| H M | FIG |E= (kg)
NC16-03 3 M4 0.11
NC16:04 | 4 s 0.10
NC16-05 5 : , | 008
NC16:06 | 6 |16 |62 |55 |20 M5 0.08
NC1608 | 8 14 0.07
NC1610 | 10 142 0.06
NC1612 | 12 50| 11| 2 | 0.06
NC20:04 | 4 " 047
NC20-05 5 017
NC20:06 | 6 0.16
NC20-07 7 175 1 015
NC2008 | 8 M6 014
NC20-10 | 10 | 20 6760 27 013
NC2012 | 12 012
NC20-14 | 14 0.09
NC20-15 | 15 53| 13| 2 [ 008
NC20-16 | 16 0.07
NC20506 | 6 013
NC20S08 | 8 0.12
NC20S10 | 10 |20 | 52 | 45 | 25 |83/ M6 | 1 =5
NC20S12 | 12 0.10
NC205-16 | 16 3911 2 | 0.06
NC25:04 | 4 M4 027
NC25-05 5 M5 0.26
NC25-06 6 0.26
NC25-07 7 025
NC25-08 8 0.25
NC25-09 9 235 " 3 024
NC25-10 | 10 023
NC25-11 11 0.23
NC2512 | 12 | 25 | 64 | 58 | 35 022
NC2513 | 13 0.20
NC25-14 | 14 0.20
NC25-15 15 0.19
NC2516 | 16 0.18
NC2517 | 17 51 12| 4 [ 017
NC2518 | 18 0.16
NC2520 | 20 013
NC2522 | 22 0.10




IEfgRAA)—7

SLEEDVE FOR LATHE

CODE d [DILI|LI|DI|H]|M]FGZE ke

NC32-04 4 0.56 jis

NC32-05 5 0.53 i

NC32-06 6 85 | 73 M6 0.55 i

NC32-07 7 0.53 2

NC32-08 8 0.54 3

NC32-10 10 295 1 [ 060 |

NC32-12 12 0.58 5

NC32-14 14 | 32 38 - 0.55 <

NC32-15 15 0.55 ®

NC32-16 16 100/ 85 0.52 u

NC32-18 18 0.49 <

NC3220 | 20 0.40 u

NC32-22 22 77 14| 2 [ 036 o}

NC3225 | 25 0.28 =

>

NC40-05 5 1.03 T

NC40-06 6 M6 1.00 L
NC40-07 7 1.01
G [ NC40-08 8 0.99
) T NC40-10 10 38 , | 093
J NC40-12 12 0.94
NC40-14 14 M8 0.90
@ i NC40-15 | 15 | 20 |100| 85146 0.89
Gle @ o |NC40-16 16 0.87
w I NC40-18 18 0.83
T NC40-20 20 0.71
DI M NC40-22 22 0.69
NC40-25 25 811412 560
. ) NC40-32 32 0.40
J o NC50-08 | 8 160
m - NC50-10 10 159
NC50-12 12 156
ol = i o [NC50-14 12 153

48 | M8 | 1

w L) NC50-16 16 | £ 100 85 | 58 150
NC50-18 18 1.46
D H NC50-20 20 1.40
NC50-25 25 127
NC50-32 32 0.97
NC50-40 | 40 711140 2 57




@ AR —7

SLEEDVE FOR LATHE

H L]
N B CODE | d [ D [ L [L1[Di| H ][ M|FGE&k
e @ A NC6020 20 245
e @ © J@ @ a NC6025 25 57 msl 1 2.29
= L | NC6032 32 | 60 [120|110| 68 200
2 5 p NC6040 40 157
3 NC6050 50 102 14 | 2 | 089
FG2 /
é‘ ) T NC254-06 | 6 0.25
NC254-08 | 8 0.24
> m | NC254-10 | 10 235/ M6 | 3 53
r —— . NC254-12 | 12 |254| 64 | 58 | 35 0.21
m w ] NC254-14 | 14 0.18
= NC254-16 | 16 51 12| 4 | 0.16
pu DI H NC254-20 | 20 012
By
p FiG3 L NC25-MTA1 | MTAT - 028
i s H T NC25-MTA2 | MTA2]| 25 60 | 34 | 24 6 | 023
2 Colifo NC25-MTA3 | MTA3 90 0.21
@ EH% o NC32-MTA1 | MTAT g5 5 | 053
\ NC32-MTA2 | MTA2 | 32 75 | 42 |30.8 5 | 045
N M NC32-MTA3 | MTA3 100 0.47
s NC40-MTA1 | MTAT 39| [ 5] 085
L NC40-MTA2 | MTA2 40 87 | 82 50 | 37 0.75
L NC40-MTA3 | MTA3 6 | 064
J | NC40-MTA4 | MTA4 116 86 39 0.72
Q
héﬁ NC50-MTA1 | MTA1 7 | 195
NC50-MTA2 | MTA2 183
i H NC50-MTA3 |MTA3| 50 | 1201190 55 485 5 166
NC50-MTA4 | MTA4 5 | 139
L NC50-MTA5 | MTA5 146126 0.94
G5 L1
J & == |
|
D1
L
FG6 L
W22\ )
&/ R ——

DI

f67 )

/ﬁ\\ “[“!_r‘ﬁ a

N




MBSy
fEEUETlR LH)THE

CODE d T DI LT HIMIFGC =%k
SHB-1602 2 013 "
SHB-1603 3 " 012 75
SHB-1604 4 012 &
SHB-1605 5 14 012
SHB-1606 6 | 16100 T 01 f_j
SHB-1607 7 M5 011 |
SHB-1608 8 0.10 5
SHB-1610 10 15 | M4 0.09
)]
SHB-2002 2 M3 020 ﬁ
SHB-2003 3 wa | 2 019 2
SHB-2004 4 0.19 T1
SHB-2005 5 0.21 o
SHB-2006 6 | 20 | 100 | 18 0.21 ,:_U
SHB-2007 7 0.21 >
SHB-2008 8 Mo 11 o2 T
SHB-2010 10 0.16 i
SHB-2012 12 0.14
SHB-2203 3 0.24
SHB-2204 4 M4 1 2 02
FG 1 . SHB-2205 ) 0.27
H SHB-2206 6 026
0dh— SHB-2207 7| 2 | 100 20 s | | 025
e NS SHB-2208 8 024
TL SHB-2210 10 0.22
M SHB-2212 12 0.20
SHB-2214 14 [, 020
ez ) SHB-2216 6 10 0.13
vd5]
’@ (| [SHB-2503 3 a 0.37
SRS [SHB-2504 4 0.36
P SHB-2505 5 035
SHB-2506 6 035
SHB-2507 7 23 1 [ 034
763 ! SHB-2508 g | 20| 100 M5 033
d SHB-2510 10 0.31
@ ‘ ~1=ig| [sHB2512 12 0.28
\ < SHB-2516 16 0.22
SHB-2520 20 10| 3 | 013
SHB-19.05-06 | 6 020
SHB-19.05-08 | 8 18 0.19
SHB-19.05-10 | 10 | 205 100 Ms 1 1 520
SHB-19.05-12 | 12 19 0.19
SHB254-06 | 6 037
SHB254-08 | 8 034
SHB-254-10 | 10 23 | M5 | 1 [ 033
SHB254-12 | 12 | 224 | 100 0.29
SHB-254-16 | 16 024
SHB-25420 | 20 10| 3 | 024




Q a7 7—/\AI)IHyx—

MILL CUTTER FOR LONG ARBOR

&K Features

OV T T7—=INTOMITOUVWIZEEL
Less vibration for machining with long arbor.

o EVEMI. 7L IMIICRE

Suitable for finishing and also machining of aluminum

*HvE2—%&: 960, 63, 80, 100
Cutter dia.

T

ZARIE W hi

e h—RMJy IR FFETLFAER)
Cartridge type (Height of insert can be adjusted.)

o0
f
—
T
]
Pd
DI

—
w
T
@
—
>
p
[H
1
R
w
_I
.'j.
1
L
|
>
7
*
i
X
A
i

NFEEE0S |
lf
CODE ®Dc | ¥ | D1 Lf od a b h1 h2 =& ke

MCD60 60 57.5 1.25
" MCD63 63 3 602 | 2° 22 1041 63 20 15 1.35
= MCD80 80 76 67 32 | 233 23
O
m MCD100 100 6 95 62 | S17o| 127 | 85 31 19.3 3.0
5 BMCDG60, 63ICIFERHD Y &2 —BFTRIL F(MCD-M10X40)DELTHYET,
% Come with special clamp bolt (MCD-M10 X 40) for MCD60, 63.
o
5 19 —=b
m M K N
X — =
= CODE V-UME e 25 LR % Fnem
< TNMZ160408-S AH6225 $AF O O O
o TNMZ160408-A TH10 7I3H O )
> TNMZ160408-D DX140 |7 I@B (41 ¥) O WA FIVIR &MY

H—hJyo EB
CODE CODE MCD-LP MCD-CS MCD-AS MCD-SB
MCD-CR m % LNN—EY g7 | RNEFEXD | &Y MRILE

”

Vg

» BEE(ED!!




(V)] MBA 957Kk

CLAMP BOLT FOR FACE MILL ARBOR
G G

HCB F+v7RILb

CAP BOLT FOR FACE MILL ARBOR

o | =
L3 L3

r 1 r | 2 %
L L >
7
CODE D d L L1 2 [ 13 G H S
MBA-M 8 20 | 156 | 25 | 16 9 7 [ M 8xP=125 | 6 >
M10 28 | 18 | 31 20 | 11 9 | MIOxP=15 8 A
M12 383 | 5,5 |85 [ 23 | 12 | ,, [ MI2xP=1.75 [ 10 K
M16 40 38 | 22 | 16 M16xP=2.0 14 L
M20 50 | 27 [ 50 [ 30 [ 20 [ ,, | M20xP=25 17 K

M24 65 | 37 | 58 | 34 | 24 M24xP=3.0
—_ oL o
MBA-OH 2/ &2—AWV—RI77FIVb -
CODE D d di L L1 L2 [ 13 G H S
MBA-M16-OH | 40 | 23 38 | 22 | 16 | 10 [ M16xP=20 14 E
M20-OH | 50 | 27 4 50 [ 30 [ 20 | ,, [M20xP=25 17 3
M24-OH | 65 | 37 58 | 34 | 24 M24xP=3.0 &
-
o
By
r
O
m
2
—
-
>
X
W
o
By

‘ L]0 H L1
HCB HCB-OH

CODE D L L1 G H

HCB-M 8x35 13 8 M 8xP=1.25 6
M10x35 16 35 10 | M10xP=15 8
M12x35 18 12| M12xP=1.75 10
M16x40 24 40 16| M16xP=2.0 14

HCB-OH 2 4—AI—A*+ vy 7HRIVb

CODE D di L L1 G H

HCB-M 8x35-OH 13 8 M 8xP=1.25 6
M10x35-OH 16 3 35 10 | M10xP=1.5 8
M12x35-0OH 18 12 | M12xP=1.75 10
M16x40-OH | 24 4 40 16| M16xP=2.0 14




(V)] HSK-FM 714 230 7=/

FACE MILL ARBOR

JIS B 4113RBIEFM 7 71 ADY ZEA7—/\
* BELRBRTEEEHRLMI T — 7 IS

Plenty types are available for various types of workpieces.
eEmEY) By RICHRE,

|deal for high feed cutter.

SN /HNAHN WAMSH

o = I

JESE

L
"
n

il
il
i

i
>
0
m
=
—
[
>
D
m
O
p)

CODE FIGT 6d [ L [ D H]K]W]C ]CI G

A63-FM16 - 60 - 40 60

o040 | 1| 16 |4pp1 38| 16| 5 | 8 | - | - | HCB-M8
A63-FM22 - 60 - 50 60 | -

120 - 50 120
AG3-EM22 60 - 63 1 22 60 50 18 5 10 HCB-M10

120 - 63 120
A63-FM27 - 60 60

50 1| 27 45517820 6 | 12| - | - |HCBMI2
A63-FM22.225 - 60 - 50 60 | -

-120 - 50 120
AE3ENEaaoE 60 aa | | | 22225 55 " 18| 4 | 8 | - | - |HCBMI0

120 - 63 120
A63-FM254 - 60 1 60 :

50 5 254 255150 | 22| 5 |95 5 33 | MBAMI2
A63-FM31.75 - 60 60

— 1| 8175 5501 60 | 80 | 7 [127| - | 40 | MBA-M16

WS 1 XKV EEN =LK Y. Special size is available upon request.

T E—=AN—ICTZERADBRERHE I Z TRV NDRESLETY EMIEPT5

Special clamping bolt with coolant hole is required for coolant through type (See page 75).
WI—Z> Mo TIEFBENTHEYET (EER). Coolant pipe is included.



CODE FIG od L D H K W C | Ct G
A100-FM16 - 75 - 40 75
-120 - 40 | 1 16 120 38 | 16 | 5 8 - - HCB-M8
-200 - 40 200
A100-FM22 - 75 - 50 75
-120 - 50 120 47
-200 - 50 200
-250 - 50 250
A100-FM22 -75-63 |1 22 75 18 | 5 10 - - | HCB-M10
-120 - 63 120
-200 - 63 200 | 60
-250 - 63 250
-300 - 63 300
A100-FM27 - 75 75
-120 120
200 1 27 200 73120 | 6 12 HCB-M12
-250 250
A100-FM32 - 75 75
-120 120
-200 1 32 200 85 | 22 | 7 14 - - | HCB-M16
-250 250
-300 300
A100-FM22.225 - 75 - 50 75
-120 - 50 120 | 47
-200 - 50 200
A100-FM22.225 - 75 - 63 | 1 | 22225 | 75 18 | 4 8 - - | HCB-M10
-120 - 63 120 60
-200 - 63 200
-250 - 63 250
A100-FM25.4 - 75 75
-120 120
-200 2 254 |200| 50 | 22 | 5 |95 | 70 | 33 | MBA-M12
-250 250
-300 300
A100-FM31.75 - 75 - 80 75
-120 - 80 120
200 - 80 1| 31.75 200 76 | 30 | 7 |127 HCB-M16
-250 - 80 250
A100-FM38.1 - 75 75
-120 120
200 1 38.1 200 80 | 34 | 9 |1569 50 | MBA-M20
-250 250
A100-FM40 - 75 75
-120 120
200 1 40 200 85 | 26 | 85| 16 50 | MBA-M20
-250 250

WU A AEEXICKYEENEZLET. Special size is available upon request.

I—=ZY N TEHBENTE Y ET (@EER).

Coolant pipe is included.

S—N<S/mXNAH WNA-MSH

T
>
(@)
m
=
=
-
>
By
@
®)
X




(V)] HSK #@iait 75> S 7—/N

PLUNGE ARBOR WITH CARBIDE BAR

5 Features
+ EEVICEROERIET—/N,
High rigidity arbor for less vibration.

* EI_:Z I\o
Low cost.

* £ B—=AIW—F A IR—=ILH 0],
Coolant through body.

HSK100A

T
(2}
X
B
i
L
ft
7
Z
P
7

|
N

2
a
S
=
L G zzzzzz0002720000022 =]
2 .
Cc G
Z aFt/
()
m
>
> CODE D L1 [ L2 [H[DI [ KW G
e] A100-FMP16CB__ -150 - 40 150 | 121 HCB-
2 200 -40 | '® [200 171 | '® |38 | > | 8 | m8x3s
= A100-FMP22CB 250 - 50 250 | 22f
T 300 - 50 | 22 [ 300 | 271 | 18 |48 | 5 | 10 | H9B o
8 -850 - 50 350 | 321
D A100-FMP22CB 250 - 63 250 | 22f
5 800 - 63 | 22 | 300 | 271 | 18 |60 | 5 | 10 | HCB
o M10 x 35
m 350 - 63 350 | 32f
2 A100-FMP31.75CB 250 - 80 250 | 221
o 300 - 80 | 31.75| 300 | 271 | 30 | 76 | 7 |127| HSB- o
350 - 80 350 | 32f

BE 2—RAN—ICTERADBERERHE Y Z TRV NDRELETY,
Special clamping bolt with coolant hole is required for coolant through type.




EEPRAOMIICEVTRERERENICR LWL ZLET,

Processing efficiency is drastically improved on

die & mold and parts machining.
Ay RZIBR TITEEEDAS-

Modular head style makes tool management easier.

FHEDH . ETEZEMILTERLTWELEITET,

Arbor body can be modified to avoid interference.

Ya—rYAZXH5aVTHA XET

TNy 7,
Variety of projection length.

22— —F A IWE—ILHS.
Coolant through body.

£2>H0OA4 ETTLY IR

ATV b EPaT5— YR
TFXEI A a—F2 I RII
SECO AVETAZ—AY K
SANDVIK T a>—303I)L
==&=<7T U7 Ao a—a2V—Ib
Biarv—IJL T a5—3I)

1 AHI TILFIT AR —ERL

BFIER (R0 A XA >OR) DR L ThhIE
iy NS ZERWERITERT.

CODE | M%<X | _od TE=
‘ L HMAS8 M8 85
‘ HMA10 M10 10.5 5
HMA12 M12 125
HMA16 M16 17.0
CODE L L1 M od ) oD
AG3-HMAS - 45 45 19 16
-85 85 59 M8 85 14.5 20.6
AG3-HMA10 ) 60 34 20
—— o2 2 M10 10.5 18.5 =
AG3-HMA12 ~ 60 60 34 25
~ 85 85 59 M12 125 235 296
135 135 109 34.9
AG3-HMA16 ) 60 34 2
~ 85 85 59 M16 17 29
135 135 109 404
CODE L L1 M od oD oD
A100-HMAB ~ 85 85 50 19.7
135 135 100 M8 85 14.5 24.9
A100-HMA10 85 85 50 23.7
135 135 100 M10 10.5 18.5 28.9
A100-HMA1Z - 85 85 50 28.7
135 135 100 33.9
185 185 150 M12 125 235 39.2
250 250 221 16.6
300 300 271 51.9
A100-HMA16 - 85 85 50 34.2
135 135 106 401
185 185 156 M16 17 29 45.3
250 250 221 52.1
-300 300 271 57.4

BB X6 K VEENEZLET ., Special size is available upon request.
Coolant pipe is included.

I—=ZY N A TEHBENTHE Y ET (@EER).

T
7]
A
I
<
>
~
>
¢
°
A
i
7

|
N

d084dVv 431SVIN avaH




QBYZD HSK-MMC IWV2Y IR =DV T7F+¥v7J

MILLMAR MILLING CHUCK

1HBiEH

SIBELSRO_— PIO—F ERIMEZSHHRVKD
ICERLUIZAREG 7 ROBICT —/N—Z M 7RIk
SBENF YV U,

Increased number of needle roller up to 256 pcs. and 6
tapered grooves inside of the chuck body exert tremedous
chucking force.

R RAL
* F v 7 O5H S 150mmERICT 10 u EREE.

Guaranteed accuracy within 10 micron at 150mm from
chuck nose.

O
Ap

S YA IOLEYIFUEAET HHHBEHEAR
UY7EnuEzE L T.REMZRIL.

L Highest quality material - Nickel Chrome Molybdenum steel,

hardened and sub-zero treatment guarantees long life.

I
n
8
<
<
(@)
)V
=
W
7
A
? G H
|) o ,}__‘"f,_" E Sea/edmem
‘.
: S I R
\y BN
? T
_ i
|=
—
= EELGE
>
X CODE od L D H
IE A63-MMC20 -105 105 -
- 165 20 165 52 67
= o — 00 M18 X P1.5
g A63-MMC25 105 105 -
Q 165 25 165 60 80
Z o — 00 | M18 X P1.5
Q A63-MMC32 110 110 80 -
165 32 165 73
i — 00 | 87 M18 X P1.5
CODE od L D H
A100-MMC20  -110 110 -
165 165
-200 20 200 52 67 M18 X P15
-300 300
A100-MMC25  -110 110 -
165 165
200 25 200 60 80 M22 X P1.5
-300 300
A100-MMC32  -120 120 -
165 165
200 32 200 73 87
— g5 M22 x P1.5
300 300
A100-MMC42  -135 42 135 93 100 -

oLy MULF NV ITY TR a—I3FBLTHY FEA. FHMIZP29,.30
Purchase collet, wrench and back-up screw separately (see P29,30).
Wo—Z> M TIEEBENTHVET (EER). Coolant pipe is included.



(V)] HSK-MRC ALy bF+vHIL 4

COLLET CHUCK HOLDER

oMMAH. BREILY NF+yv ., High precision collet chuck with durability.
e yafy TEENG. Can be used for Synchro tap.
CBNTVART 1 SGRBERDRT 1 INT 2V A/ MAEESROMEIMIEZRELTEYET,

Pre-balanced symmetrically for higher R.P.M.
o A1 IFR—IL¥Ea]EE, Coolant through body.

T
7
A
<
By
o
=
L
S
b
9’_
—\1
Y
7
&
e
!

(@)
o
CODE ?d L D G =
A63-MRC10 - 90 90 ny
120 0.5~ 10.0 120 28 M11 x P1.0 o
-200 200 I
A63-MRC13 - 90 90 s
-120 1.0~ 130 120 35 M15 x P1.5 X
-200 200 z
A63-MRC16 - 90 90 =
-120 1.0~ 16.0 120 42 M18 x P1.5 =
-200 200 By
A63-MRC20 - 90 90
120 2.0~ 200 120 50 M22 x P1.5
-200 200
CODE od L D G
A100-MRC10 _ -105 105
-135 135
o 0.5~ 10.0 500 28 M11 x P1.0
-300 300
A100-MRC13  -105 105
-135 135
s 1.0~ 130 500 35 M15 x P1.5
-300 300
A100-MRC16 _ -105 105
-135 135
o 1.0~ 16.0 500 42 M18 x P1.5
-300 300
A100-MRC20  -105 105
-135 135
-200 2.0~ 200 200 50 M22 x P1.5
-300 300
-350 350

By MEIFBLTOWETHA. OLY MLYF NI TV TR 23— EXL £ELN,
@3l NAMRC10~MRC20 P35 &y 7aLw b~ P37
Comes with collet nut, purchase collet, wrench and back-up screw separately.
Wo—Z> M TIEEBENTHVET (EER). Coolant pipe is included.



(V)] HSK-SLM #4 kOv STV RINFIN &

SIDE LOCK END MILL HOLDER

* F A IVEAR—IVTELN .
Collant through body.

¢ XU RYINMIICRETT,
|deal for milling and drilling.

—L

s
J

HGI L

S
D

&
@)

I
%
A
%
—
<
ﬂ.
1
N
O
Y
7
T
<
B
)2
*
e
!

C£ fIG3 L1
v
- CODE FIG od L1 D H1 H2 H3 G
8 A100 - SLM20 -105 1 20 105 52 60 25 - M16 P2.0
P A100 - SLM25 -110 25 110 65 70 o4 25 M18 P2.5
g A100 - SLM32 -110 > 32 72 75 28
A100 - SLM40 -120 40 M20 P2.5
O
= A100-SLM42 _ -120 a2 | 120 8 | 8 | 26 | 32
— A100 - SLM50 -125 3 50 125 100 90 27 35 M24 P1.5
; WEHY 1 ZEIUCKWEIEN =L ET . Special size is available upon request.
[®) BI—Z> M TR THEY £9 (BAER). Coolant pipe is included.
5
a .
— ‘ (]
HSK 79— MN7
HSK COOLANT PIPE
O-ring
]
Ql |
[ |2
[
EIE.E-'.:_E% Fixed type @ @
CODE HSK No. d L L1 L2 G H
0-2050 HSK 50 10 33 23 10 M16xP1.0 5
0-2063 HSK 63 12 36.5 24.5 12 M18xP1.0 6
0-2100 HSK100 16 44 28 16 M24xP1.5 8
PIEIIN  Fiexible type
CODE HSK No. d L L1 L2 G
0-3063 HSK 63 12 36.5 25 11.5 M18xP1.0
0-3100 HSK100 16 44 28.5 15.5 M24xP1.5

WA SXIEBA LICERL Y FHERETY

Special wrench is required to remove flexible type coolant pipe.



(V)] TREHIEAT—/

ARBOR FOR TOOL & CUTTER GRINDER

+HSK50A ERltE> v+ > 7, HSKBE0A shank.
¢ T7—=N\BREEVRUBE2uULLT,
Repeatability (for installing and removing of arbor) : Less than 0.002mm.

2 EI_:X I\o
Low cost.

— N RS mH

~
s

s @
N

HSK50A -

>
.y
vy
o
)
m
o
)
_|
o
o
I
Qo
(@)
Cc
—|
—|
m
)
9)
T
Z
O
m
)

o

yel
D

A ]\
s

P48
&

W\/

P50

HT
L

D

; GLA31.75
57 /

CODE ) L
A50-GLA20 75 75
90 90
120 20 120
150 150
A50-GLA31.75 - 75 75
90 90
120 31.75 120
150 150

BAHZ— Y NIHBLTHEYUEITDEAIFMTEL THY £ A. Comes with collar and nut. Not include grinding wheel.



(V)] H—1Y v (SO i)

CARTRIDGE (FOR ISO STANDARD)

STFPR1OCATT
STFPRI2CA16

STUPRIOCAT] H
STUPRI2CA16 12 I re
20°

Ve CT—N

TE
| FELT

o = ~
20 ﬂ‘J - //\>
L
CODE Dmin | H1 F L L1 H L2 T |RWNAZ| 97072994 (BE) | Fv7RE |28/ —-AR
STFPR10CA11 | ¢ 35| 10 14 | 50 8 | 125 | 11 20 5 M6 M3 (90°) TPxx1103%x| R0.4
STFPR12CA16 | ¢ 50 | 12 20 | 55 8 |155| 16 | 20 6 M6 M4 (60°) TPxx1603%x| R0.8
STUPR10CA11 | ¢ 35| 10 14 | 50 8 | 125 11 20 5 M6 M3 (90°) TP+1103%x| R0.4
STUPR12CA16 | ¢ 50 | 12 20 | 55 8 |1565| 16 | 20 6 M6 M4 (60°) TPxx1603%x| R0.8

STKPR10CAT1
STKPR12CA16

QS [V
V% -

H1

(@)
>
)
_|
T
O
(©)
m
’.T.I
O
)
7
O
®
>
Z
O
>
ny)
=]

. kL

STWPRIOCATT H
STWPRI2CAT6 P r re
20°

E

CODE Dmin | H1 F L L1 H B L2 T |RVMAX|I7072994X (BE) | FYT7RE 8%/ —-ZR
STKPR10CA11 | 35| 10 | 14 | 45 8 [125| 11 | 20 5 M6 M3 (90°) TP#x1103%| R0.4
STKPR12CA16 | 50| 12 | 20 | 50 8 [165| 16 | 20 6 M6 M4 (60°) TP#x1603%|  R0.8
STWPR10CA11 | ¢ 35| 10 | 14 | 44 8 [125| 11 | 20 5 M6 M3 (90°) TP#x1103%|  R0.4
STWPR12CA16 | ¢ 50| 12 | 20 | 47 8 [155] 16 | 20 6 M6 M4 (60°) TP#x1603%|  R0.8

STSPR10CAT1
STSPR12CA16

STIPRIOCAT H
STIPRIZCAT6 12 7 f
20°

O < I
S > s L
L

CODE Dmn[ HT [ F [ L [ 1 [ H [ B [ (2] T [RVNIALX[I79T2I01X BE)| Fv & | %/ —AR
STSPR1OCA11 | 935] 10 | 14 [ 44 | 8 [125] 11 | 20 | 5 M6 M3 (90°) TPx1103%  R0.4
STSPR12CA16 | 950| 12 | 20 | 47 | 8 [155] 16 | 20 | 6 M6 M4 (60°) TP#1603%  RO.8
STTPR1OCAT1 | ¢35) 10 | 9 | 50 | 8 [125| 11 | 20 | 5 M6 M3 (90°) TP#+1103+|  R04
STTPR12CA16 | 50| 12 | 13 | 55 | 8 |155] 16 | 20 | 6 M6 M4 (60°) TPx1603%  RO.8




(V)] H—1Y v (SO i)

CARTRIDGE (FOR ISO STANDARD)

STRPRIOCA11 H
STRPRI2CA16 % T ﬁ

$

2,

o

H

e o7—

STGPR10CATT
STGPR12CA16

STIPR10CATT H
STIPRI2CAT6 P .

20

f
| FEar

CODE Dmin | H1 F L

L2 [ T [RWVMAX][IFYT2I4X (BE)| Fv78E [B%/—ZR
5

(@)
>
)
_|
T
O
(@)
m
?
o
)
7
(@]
®
>
Z
O
>
0
=]

L1
STRPR10CA11 | 35| 10 | 14 | 50 8 [125| 11 | 20 M6 M3 (90°) TP#x1103%|  R0.4
STRPR12CA16 | 50| 12 | 20 | 55 8 [1565| 16 | 20 6 M6 M4 (60°) TP#x1603%|  R0.8
STGPR10CA11 | ¢ 35| 10 | 14 | 50 8 |125| 11 | 20 5 M6 M3 (90°) TP#x1103%|  R0.4
STGPR12CA16 | ¢ 50| 12 | 20 | 55 8 [165| 16 | 20 6 M6 M4 (60°) TP#x1603%|  R0.8
STJPR10OCA11 | ¢ 35| 10 | 14 | 50 8 [125| 11 | 20 5 M6 M3 (90°) TP#x1103%| R0.4
STJPR12CA16 | ¢ 50| 12 | 20 | 55 8 [165| 16 | 20 6 M6 M4 (60°) TP#x1603%| R0.8

SCICRI0CA09 H SDLCRI0CAO7 H
SCICR12CA12 L 7 SDLCRI2CAT1 o L .
ERL AN R ar A 09 E— #e
a \ N
SN - i \ i @
3
Hi 1

L

2

H1

CODE Dmin | H1 F L L1 H B L2 T [RVMAXI7072994X BE)| FYT78E [BE/—ZR
SCLCR10CAQ9 | ¢ 35| 10 | 14 | 50 8 |125| 11 | 20 5 M6 M4 (60°) CCx09T3%|  R04
SCLCR12CA12 | ¢ 50| 12 | 20 | 55 8 [165| 16 | 20 6 M6 M5 (60°) CC++1204%¢|  R0.8

SDLCR10CAQ7 | ¢ 35| 10 | 14 | 50 8 [125| 11 | 20 5 M6 M2.5 (60°) DC#+Q702%|  R0.4
SDLCR12CA11 | ¢ 50| 12 | 20 | 55 8 | 165 16 | 20 6 M6 M4 (60°) DC#x11T3+| R0.8




w
@
m
Q
>
—

SPECIAL

BAMIHEAI—0.757ER

Fixture for multi-tasking machines.
CBEMIK. V=T 2—BI7—0057RE,

Clamping fixture for multi-tasking machines and machining centers.

¢ SIRET — U BT S CREREEDPm LV LET,

High precision workpiece change and less interference with machine.

@MENED

¢ 2E-AEE. EmF v v VHORE &
KRG DEHPEKET.

Length of chuck can be changed thanks to

| CODE | LF150-100 / NMT50-MMC42-110 | 2 pieces structure.

65

65

NMT50-MMC42-110

90

42
093

-

LF150-100 50

LT

50

100

CHEF ¥ v FERFHRE. SETHREEE.

Installing on hydraulic chuck.

¢ TEFHMOBWTEZMITET

Less interference with spindle head.



SPECIAL

@MENED

SRR =288

Fixture for 5 axis machining centers.
o Bl = JReA—B7 -0 05 TRE,

Clamping fixture for 5 axis machining centers.

¢ SIRET — U BT S CREREEDPm LV LET,

High precision workpiece change and less interference with machine.

7))
&
m
Q
>
—

¢ TRIWMOBHTHSZRTET

Less interference with spindle head.

| CODE | MF250-80 / NMT50-MMC42-110

80

NMT50-MMC42-110

= pssen
© ©
fa Bl
%

04
093

250
| Lol |
L

100

©
O

50 110

MF250-80

o BT — 7 VEFER % . ZHRROEE B E L S SR HREMARICHISREVZLET,

Special fixture can be made to fit your machine table.



(V)] SPECIAL

BHFAR—) 2 JIN—

Special Boring Bar

72)
@
m
Q
>
—

BRER—1) 2 JIN—

Carbide Boring Bar

s

BEOJaLY M FYyIRLE
Long Carbide Collet Chuck Holder

KM$F5%E—1) > J/1\— WHEmHY2—-&OYJ 7=\
KM Special Boring Bar Special Back Facing Cutter & Long Arbor

HSKR%ED Y 2— BT50wHBAN KIS BTS50R%EDY 2—
HSK Groove Cutter BT50 Surface Groove Holder BT50 Groove Cutter

RHHRT =AY

Special Tailstock

- - pre— " .
i) —-:-;iil--—-v-u

v —FIIEEIVY 7514 ABO T 7—IN
Long Arbor for Milling



_ 25f/\1 A ‘
FIORARZTIER=)dny R A=V JRFNE a7k
Adjustable Boring Head Turning Holder Core Drill

BYJVhys—

Back Spot Facing Cutter

WHR7TRAT7—N
Special Hob Arbor

aAYER=avin1 b
Combination Cutter

WEMIHA
YRR DY 2— ALy bFvyvokRIVE HSKI00FA1 /\—
Special Groove Cutter Collet Chuck Holder for Electric Discharge Machine ~ HSK100 Line Bar

J BWHrHA—NIv D IRWMHEIAI—YI9F vy Y

Special Cartridge Milling Chuck for Tool Grinding

7))
&
m
Q
>
—




(V)] SPECIAL

2
@
m
Q
>
—

BRI FRIVE

Special Bite Holder

FERERY) Hy & — FIREERY) Hy & —

Special Chamfering Cutter Special Chamfering Cutter

BHAR—-D2JAYER BHTAOY MDY 42—
Special Cutter Head Special T-Slot Cutter

BHAOYE—=/\1 b YBIR—1) > JN— WHaANERILE
Special Slotter Bite Special Boring Bar Special Groove Holder
Q@ ZNSLNDEHIREERFR—LR—JICTITEETET. | vrI—V—ILERsit [ & %

3



S,—= S Oy ~ > ~ N
RIOZJEE—RIY U8R, AR - <TiE (JIS B6339-1992)
JIS(BT) . JIS (IT). ANSI. DIN u=191-3,
20 - (IT30~IT50D 7+)
ZaT—IN u
o \B d :
9 7N 1 2
7 S b
el T T
60"(-]{19'; D}D]M D4D5D6j %[ jD4D5D6 J
|
\ 7 V | . )|
By X JJ
Qé X1 t t X t
3 y
21‘ e
e
- AP L % 7 ) v
Ds 0 ds d2 g 0> 0s 0s b 05 t t j
JISBT) | 31.75 | 484 *°"|14 125 ™ | M12 | 24min | 34min | 70 “3°| 164 M? | 17min | 163 _{ - i
_— JSUT) | 3175 | 478 S, |14max [130 7 | Mi2 | 24min | 34min | 55 0°| 161 M2 | — 16.4 o R -
ANSI | 3175 | 478 %, |145max|124 2| m12 | 26min| — 485) | 161 *02 — we'4 5 197 - -
DIN | 31.75 | 478 %, |14 130 M12 | 24min |335min| 55 *J°| 1611 T 16.4 S g, 15 0
No.35 | JIS(BT) | 38.10 | 564 “°'°14 125 ™ | M12 | 24min | 34min | 70 T9°| 161 M2 | 20min 19.6 o — —
JIS(BT) | 4445 | 654 “°"°|19 170 ™ | M16 | 30min | 43min | 90 T9°| 161 M? | 21min 22‘6 5 - -
N JISUT) | 4445 | 684 %, 1190max| 170 T | M16 | 32min [425min| 92 *2°| 161 M2 | — 22l8 < o5 011850 0
ANSI | 4445|684 5,185 164 | m16 |3omn| — | 475 TI°| 161 92| — 22l8 5 2 ST
DIN | 4445 684 °,|190max|170 " | M16 | 32min |425min| 82 *0°| 161 i 22.8 5 25 o 185 0
JIS®BT) | 57.15 | 828 “°"°|23 210 " | M20 | 35min | S0min | 110 T9°| 193 "2 | 26min 29'1 Y E—
e JISUT) | 57.15 | 8270 %, |284max|21.0 " | M20 | 40min |525min| 100 2°| 193 M2 | — 29‘1 o 313 0, | 2400 )
ANSI | 57.15 | 827 9,125  |204 YY) M20 |38min| — | 525 *I°| 193 92| — 29'1 < 32‘5 AR
DIN | 57.15 8270 %,|234max|21.0 " | M20 | 40min |525min| 100 "0°| 193 T Qéma;m — 24 0
JIS(BT) | 69.85 |101.8 i0‘527 250 ™ | M24 | 45min | 62min | 180 T9°| 257 ™2 | 3tmin | 354 _{ - —
- JISUT) | 69.85 [101.75 %, |280max|250 ™ | M24 | 47min |615min| 115 %) 257 M2 | — 35'5 o 377 9,1 3000 9
ANSI | 6985 [101.75 0, 265 248 0'| M24 |4Bmin| - | 575 '0°| 257 92 - 35‘5 o T o =
DIN | 69.85 |101.75 _%, |28.0max | 250 T i i o8 i AL
O, X M24 | 47min |615min| 115 “3°| 257 - |85 0, |87 %, 30 %,
M- 75 Y VB %
Ds Da Ds e f v X Xi y N /d : Ds
JIS(BT) - 38 46 " |20 136 “°'| 4 8 Y2 0417633 | 8 | 56.144
_— Jsam) | 39 9| 3925 9, | 4605_9,| 35min | 1590 111 =375 9% - 32 O - - 64l85 009
ANSI | 32 9| 3925 9.| 4605_2,| 35min (1) | 3875 9% - l(818) - 7 54l85 009
DIN 45max | 443 3.1 50 _9,| 85min | 1590 111 *% 3875 0% - 3.2' =011 47808 | 7 59'3
No.35 | JISBT) - 43 53 "¢ | 20 - 146 "' 5 10 o o 2{650 10 65.680
JIS(BT) - 53 63 " | 25 166 “°'| 5 10 o o =04 251375 10 75.679
N JSamy | 447 0. | 5625 %, | 63550, | 35min | 1590 111 7% 375 9% - : 32 U 24‘500 7 72'30 +005
ANSI | 447 0. | 5625 0, | 63550, 35min | 15907%"| 11.1 375 29— 3}8 24.500 7 72'30 009
DIN 50max | 5625 _5,| 6355_g, | 35min | 15.90 111 =% 375 73 - 32 =02 24'5oo 7 72'30 009
JIS(BT) - 73 85 "® |30 - 212 "% 6 12 Mg o4 33.000 12 106216
Nods Jsam) | 574 0| 7525 9%, | 8255 9, | 35min | 1590 111 =375 0% — : 32 O 331029 7 | of 35 009
ANSI | 574 0. | 7525 9,1 8255 %, | 35min | 158272"| 111 375 9 - 8:18 33'029 7 91'35 009
DIN B3max | 7525 0. | 8255 0, | 35min | 1590 111 *% 3875 9% - 32 o 33'029 7 91'35 009
JIS(BT) - 85 100 "® | 35 - 232 %17 15 0t g 4 40.158 15 Hgozo
Noso |_IS(M_| 701 051 9125 9,1 97509, | 85min | 1590 111 =% 875 39 - : 32 Y 40.173 7 107'25 009
ANSI | 701 0| 9125 3| 9845 3, | 35min | 158275 | 111 375 9 - 3:18 40:173 7 107‘25 009
DIN 80max | 9125_9.| 9750 5, | 35min | 1590 111 7% 875 9% - 32 % 40173 | 7 10%25 009

BTSSICIE LM X —h —EAREDH WV ET,

91



Xy T TFREK

xIHPAX (NDPIZES S NUJL# XYL X NI S NUJLZ
Nominal Drill diameter Nominal Drill diameter Nominal Drill diameter Nominal Drill diameter
M1  Xx0.25 0.75 M2.5 x0.45 210 M9 Xx1.25 7.80 M27 x3 24.0
M1.1 x0.25 0.85 M2.6 x0.45 2.20 M10 x1.5 8.50 M30 Xx3.5 26.5
M1.2 x0.25 0.95 M3 Xx0.5 2.50 M11 x1.5 9.50 M33 Xx3.5 29.5
M1.4 x0.3 1.10 M3.5 xX0.6 2.90 M12 x1.75 10.3 M36 x4 32.0
M1.6 x0.35 1.25 M4 Xx0.7 3.30 M14 X2 12.0 M39 x4 35.0
M1.7 X0.35 1.35 M4.5 xX0.75 3.80 M16 X2 14.0 M42 x4.5 37.5
M1.8 X0.35 1.45 M5 x0.8 4.20 M18 Xx25 155 M45 Xx4.5 40.5
M2 Xx04 1.60 M6 Xx1.0 5.00 M20 x2.5 17.5 M48 x5 43.0
M2.2 x0.45 1.75 M7  x1.0 6.00 M22 x25 19.5
M2.3 x0.4 1.90 M8 x1.25 6.80 M24 X3 21.0
XIPAX NUJL#E S P NUILZ xIYAX NIV S P NUDIZES
Nominal Drill diameter Nominal Drill diameter Nominal Drill diameter Nominal Drill diameter
M1 x0.2 0.80 M11Xx0.75 10.3 M25x%x1.5 23.5 M39x1.5 37.5
M1.1 xX0.2 0.90 M12x1.5 10.5 M25%x1.0 24.0 M40x3.0 37.0
M1.2 X0.2 1.00 M12x1.25 10.8 M26%x 1.5 24.5 M40x2.0 38.0
M1.4 x0.2 1.20 M12%x1.0 11.0 M27%x2.0 25.0 M40x 1.5 38.5
M1.6 x0.2 1.40 M14x1.5 12.5 M27%x1.5 255 M42x4.0 38.0
M1.8 x0.2 1.60 M14%x1.0 13.0 M27%x1.0 26.0 M42x3.0 39.0
M2 Xx0.25 1.75 M15%x1.5 13.5 M28x2.0 26.0 M42x2.0 40.0
M2.2 x0.25 1.95 M15%x1.0 14.0 M28x%x 1.5 26.5 M42x1.5 40.5
M2.5 x0.35 2.20 M16x1.5 14.5 M28x%1.0 27.0 M45x4.0 41.0
M3 x0.35 2.70 M16x%x1.0 15.0 M30x3.0 27.0 M45x3.0 42.0
M3.5 x0.35 3.20 M17x1.5 15.5 M30x2.0 28.0 M45x2.0 43.0
M4 Xx0.5 3.50 M17x1.0 16.0 M30x1.5 28.5 M45x1.5 43.5
M4.5 X0.5 4.00 M18x%x2.0 16.0 M30X%x1.0 29.0 M48x4.0 44.0
M5 Xx0.5 4.50 M18X%x1.5 16.5 M32x%2.0 30.0 M48x 3.0 45.0
M5.5 x0.5 5.00 M18X%1.0 17.0 M32%x1.5 30.5 M48x2.0 46.0
M6 x0.75 5.30 M20x2.0 18.0 M33x3.0 30.0 M48x 1.5 46.5
M7 Xx0.75 6.30 M20x 1.5 18.5 M33x2.0 31.0 M50x% 3.0 47.0
M8 Xx1.0 7.00 M20x1.0 19.0 M33x%x1.5 31.5 M50x2.0 48.0
M8 x0.75 7.30 M22x2.0 20.0 M35x%x1.5 33.5 M50x1.5 48.5
M9 Xx1.0 8.00 M22x1.5 20.5 M36x3.0 33.0
M9 Xx0.75 8.30 M22x1.0 21.0 M36x%x2.0 34.0
M10 Xx1.25 8.80 M24x2.0 22.0 M36X%x1.5 34.5
M10 x1.0 9.00 M24x1.5 22.5 M38x1.5 36.5
M10 x0.75 9.30 M24x1.0 23.0 M39x3.0 36.0
M11 X1.0 10.0 M25x%x2.0 23.0 M39x%x2.0 37.0

ZORDO NYINREFEO>TINLT BHEEF. MIFEICKY NUILROTERENZEATZDDOT. MIARZAEL. TRELTABEEREZF. R
WREERT DUENHY)ET,

Drill diameter needs to be corrected in case it is not fine as prepared hole since accuracy of drilled hole might be changed
according to processing condition.

NERSRI MR (BE1E)

D D ﬁomﬁa\%e‘ngons of 1§rea§ ds d dk D k H H d2

dk dk M3 3 34 | 55 | 65 3 27 | 33 | 26

M4 4 45 7 8 4 36 | 44 | 34

N M5 5 55 | 85 | 95 5 46 | 54 | 43
| L §~II “ N L = M6 6 | 66 | 10 | 11 | 6 | 55 | 65 | 51
M8 8 9 13 | 14 8 74 | 86 | 69

d o M10 10 | 1 16 | 175 | 10 | 92 | 108 | 86

" M12 12 | 14 | 18 | 20 | 12 | 11 13 | 104

— ds M14 14 | 16 | 21 23 | 14 | 128 | 152 | 122
—— M16 16 | 18 | 24 | 26 | 16 | 145 | 175 | 142

db M18 18 | 20 | 27 | 29 | 18 | 165 | 195 | 157

1 /4 1d[2] 7 M20 20 | 22 | 30 | 32 | 20 | 185 | 215 | 17.7

d 47 M22 22 | 24 | 33 | 35 | 22 | 205 | 235 | 19.7

B / — M24 24 | 26 | 36 | 39 | 24 | 225 | 255 | 212

7 /A M27 27 | 30 | 40 | 43 | 27 | 25 | 29 | 242

M30 30 | 33 | 45 | 48 | 30 | 28 | 32 | 267




s o Bt =

# A& v 3=V - &4t

BT 7£ #b T619-0216
REFARNHMEEET B4%F
tel.0774-66-4246 fax.0774-66-4247

N 1,500 H
Bl 1978%5H

ER5[ER1T =FUFJIRITRRXIE
RERITRRXIE

JerEsE

HEJCT

EEEOE KRJCT
AR

ARITA R
~ N ] FOH/ /Y -
EEXRNA MCY—1 > H—3 e TE, e E i e
y - LHER
FE MR RITR B pmmic
PsacT

_¥> i
CEOF

1

1 T

e
I 2 3—"y—=IL§)
|

Fopiasy

C BOPEXAEY
i BOR
i T2 2—
PEE ? Stz
HPHUOF SOELL g Fﬁ&F)LT
E3 ABba,
PHEDBAIE ﬂ D *
[E5] L
PREE R bE D
\— () [an
F_RREER = A D
TR T % | =
2
J?\‘F*“%ﬁ 4
=il
Eos
N NS
5
AFEBLL 1 )
| | | g
D
. W[
v
&
i¥
; 8
5 il
ETADIL | z
EHUIES g
[}
I H
C EhE25S ¢
B 1.C KIE I.C
( B EPEE ZIRERE
E H l FLHE
ERFL EBOU

JROESHKRRERK Y &7 2 —ICT(#9204)
JRAEERK W &2 7 2 —IZT (#9209)
KB DREREK V) &5 > —I2T(#920%)

CATALOG 2022.11






